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Part A: Grammar

Directions: Questions 1-15 are incomplete sentences. Beneath each sentence, you will

see four options (1), (2), (3), and (4). Choose the option that best completes the
sentence. Then mark the correct choice on your answer sheet.

1-  Writing a research paper is generally .................. difficult as teaching at university; that
is, their levels of difficulty are similar.
1) enough 2) too 3) such 4) as

2-  Whenever I cannot understand the meaning of a word, [ look it .........cccucuee. in a dictionary
so that I can understand what the book is saying.
1) down 2) after 3) for 4) up

3-  To know his perspective on time ........cceceveueee during the pandemic, and what we can do
about it, I spoke to Tim Urban, the author of the blog “Wait But Why.”
1) lost 2) are lost 3) to lose 4) which loses

4-  After their meeting, they became closer friends and he thought he could talk ...................
about his problems to his friend.
1) little 2) a little 3) several 4) any

5-  This is the process .......ccoeeuens the seller can be sure that the Bitcoins he or she is receiving
are real.
1) by which 2) by that 3) that 4) for it

6-  New Year holidays are in just a few weeks and I look forward ................... time with family.
1) that spending 2) to spending 3) to spend 4) for to spend

T- e for the villagers who rallied to save it, the lighthouse would have been
auctioned off decades ago.
1) Whether or not was 2) If there wasn’t
3) Were it not 4) Given that

8- You always need cash flow to stay in business, ........cooeeeeuens you often hear the phrase “cash
is king.”
1) because that 2) that is due to 3) as for what 4) which is why

9-  They prefer depositing their money in a single account .........cceueue.. it in several different
ones.
1) than putting 2) and to put 3) to putting 4) that put

10- She won’t stop talking about conspiracy theories, ........ceeeeueuee my attempts to explain that
they are false and dangerous.
1) despite 2) though 3) in spite 4) contrary

11- Each member contributes original musical compositions to the group, ........cccce... their

friend and mentor, Mr. Coleman.
1) has so 2) as does 3)as do 4) have done so
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12- e extensively in Eastern Europe, I can say with great pride that Bulgaria is
exquisitely beautiful.
1) I traveled 2) That I traveling
3) Having traveled 4) As was traveling

13- Technical hiccups ........cceueuuee. , the evening felt very smooth and everybody was pleased
and happy.
1) notwithstanding ~ 2) nonetheless 3) otherwise 4) nevertheless

14- Last week, the UN security council passed a resolution calling for an immediate ceasefire
in the war-torn region, ..........ceceeeuee

1) where the militants didn’t manage abiding by
2) where the militants have yet to abide for
3) which the militants failed in abiding for
4) which the militants have not abided by
15- The incident spurred him and other students into action ................... a consequential
effect on their education.
1) for making their campus to include indigenous students having
2) to make their campus inclusive of indigenous students and have
3) to make their campus including as indigenous students who have
4) for making their inclusive indigenous campus by students having

Part B: Vocabulary

Directions: Questions 16-35 are incomplete sentences. Beneath each sentence, you
will see four words or phrases marked (1), (2), (3), and (4). Choose the one word or

phrase that best completes the sentence. Then mark the correct choice on your
answer sheet.

16- Jack showed me his .......cccoeeunnee of rare books. I was surprised to see the first edition of
so many important books among them.
1) collection 2) percent 3) focus 4) tendency

17-  The best time to .......cccereeenee for a flood is when the sKky is clear and your weekend is free,
not when local officials are telling you to seal up windows and head for higher ground.

1) spend 2) desire 3) prepare 4) fight

18- The challenge is that the job looks very ........cceueueee. , but it is really very complex because
every detail is important.
1) simple 2) dangerous 3) remote 4) demanding

19- A manufacturer has been fined $300,000 for employing children as young as 14 to
“dangerous machinery” and requiring them to work more hours than the law

allows.
1) oppose 2) operate 3) reward 4) return
20- The idea that it is “t00 ......ccoeerereees ” to eat healthy food and that junk food is cheaper is
nonsense.
1) proud 2) confident 3) expensive 4) complete
21-  Critics believe that Jackson’s complete lack of .................... in presenting his ideas suggests

that he is not a serious candidate.
1) distaste 2) organization 3) complication 4) digression
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22- The minimum .......ccoeeeveuee that should be required of individuals offering investment
counsel services to the public have recently been announced.
1) portions 2) wages 3) installments 4) qualifications

23- Slave-owners worked their slaves hard, demanded complete .................... from them, and
disciplined those who ignored their owners’ orders.
1) exchange 2) destiny 3) obedience 4) dominance

24- The hardwood floors in our house are badly ........ccocevneee. in several places because my
children pushed and pulled the heavy furniture as they were playing.
1) paved 2) scratched 3) constructed 4) evaporated

25- If the territorial .........cccevenee. of this country is threatened, we will certainly use all the
means at our disposal to protect it.
1) integrity 2) dispute 3) commonplace 4) shelter

26- Don’tlet a/an .....ccovveennene matter like applesauce grow a millimeter larger than it has to.
Be diplomatic and ask your father to order both varieties.
1) trifling 2) detailed 3) disinterested 4) unconcerned

27- Though not many citizens would openly sympathize with their motives or methods,
the courage of the rebels has won ............. admiration at all levels in Britain.
1) protruding 2) sorted 3) invisible 4) sneaking

28- The age of the automobile and the truck have put this historic crossroad city between East
and West into an almost .........cceueunee traffic jam.
1) retrospective 2) submissive 3) permanent 4) pedantic

29-  After they ......ceevueunee into a new policy without thinking it through, the U.N. officials
tried to rationalize it in vain.
1) apprehended 2) burgeoned 3) exacerbated 4) blundered

30- As Australian officials planned to cut Medicare by at least $250 billion as part of their
proposal to balance the budget by the year 2024, social activists in healthcare

alarm.
1) registered 2) documented 3) validated 4) inscribed

31- Her stubborn ................. may be one reason for her entrance into the New York City
Marathon. Not everyone believes it’s wise for her to run so soon after that terrible accident.

1) strike 2) streak 3) stripe 4) staple

32- In many cases, the statute does not say precisely what agencies should do, giving them
considerable ........cecevenene in interpreting the law and developing regulations.
1) latitude 2) remuneration 3) blandishment 4) conflation

33- Political analysts said that it reflected the ...........c..u..... nature of this rebellion—that is, it
was not a well-formed coup but a protest without a plan or internal organization.

1) facetious 2) inchoate 3) peremptory 4) panegyric

34- Ifyou stay up late at night, you may fall into a loop of ................... —or repetitive intrusive
thoughts with no satisfactory outcome.
1) circumlocution  2) insomnia 3) rumination 4) debacle

35- His account of the siege of Jericho is completely .................... by his apparent ignorance of

the British excavations of a decade ago which proved that the so-called “walls of Jericho”
are actually a thousand years older than the time of Joshua.
1) corroborated 2) stratified 3) exculpated 4) vitiated
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Part C: Sentence Structure

Directions: Choose the sentence with the best word order for each of the following

series. Then mark the correct choice on your answer sheet.

36-

37-

38-

39-

1) The country which the two champions will meet and fighting for the gold medal is
located in South Africa.

2) The country which the two champions will meet to fight for the gold medal located
in South Africa.

3) The country where the two champions will meet to fight for the gold medal is located
in South Africa.

4) The country where the two champions will meet and fighting for the gold medal
located in South Africa.

1) Being independent is not as same as cutting off all ties with family and friends and
abandoning those whom love you.

2) Being independent is not the same as cutting off all ties with family and friends and
abandoning those who love you.

3) To be independent is not as same as cutting off all ties with family and friends,
abandoning those that love you.

4) To be independent is not the same as cutting off all ties with family and friends,
abandoning those love you.

1) They have rarely gone into debt for buying their holdings, which means that they do
not have to sell land or buildings at low prices and ensuring cash flow.

2) They rarely have gone into debt to buy their holdings, that means they do not have to
sell land or buildings at low prices, ensuring cash flow.

3) Rarely they have gone into debt for buying their holdings, meaning that they do not
have to sell land or buildings at low prices to ensure cash flow.

4) Rarely have they gone into debt to buy their holdings, which means that they do not
have to sell land or buildings at low prices to ensure cash flow.

1) Given that temperatures in the area of the fire expected to reach anywhere from the
upper 80s to just shy of 100, and depending on the smoke cover, said Scott Rowe, a
meteorologist with the National Weather Service.

2) That temperatures in the area of the fire were expected to reach anywhere from the
upper 80s to just short of 100, and depended on the smoke cover, said Scott Rowe,
who was a meteorologist with the National Weather Service.

3) Temperatures in the area of the fire expected to reach anywhere from the upper 80s
to just short of 100, depending on the smoke cover, said Scott Rowe, who was a
meteorologist with the National Weather Service.

4) Temperatures in the area of the fire were expected to reach anywhere from the upper
80s to just shy of 100, depending on the smoke cover, said Scott Rowe, a
meteorologist with the National Weather Service.
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40-

1) Jane’s frantic and weird behavior ought to not take you by surprise, particularly
because she has recently lost her other significant on account of a horrible accident,
leaving its mark on her personal and professional life.

2) Jane’s frantic and weird behavior ought not have taken you by surprise, particularly
she has lost recently her other significant as a result of a horrible accident, leaving its
mark on her personal and professional life.

3) Jane’s frantic and weird behavior ought not to have taken you by surprise, particularly
as she has recently lost her significant other as a result of a horrible accident that has
left its mark on her personal and professional life.

4) Jane’s frantic and weird behavior ought not take you by surprise, particularly since
she has lost recently her significant other on account of a horrible accident that has
left its mark on her personal and professional life.

Part D: Language Functions

Directions: Read the following conversations between two people and choose the

answer choice (1), (2), (3), or (4) that best completes the blank. Then mark the correct
choice on your answer sheet.

A: Hey, Joe! Do you know who .......c.ccceueue. (41) about Vicky’s surprise retirement party?
B: Well, I’m not sure; but if I had to guess, I think it would be Harry.
A: So do I! The guy’s so talkative; .......cccoiunncee (42) in his mouth!
B: I think we must talk to him. After all, it’s not his first time, and someone has to address the
................... (43) in the room!
41- 1) rang a bell 2) poured the water
3) spilled the beans 4) cleaned the clock
42- 1) food wouldn’t stay 2) snow wouldn’t thaw
3) tongue wouldn’t turn 4) butter wouldn’t melt
43- 1) elephant 2) person 3) bull 4) problem
A: I’m so glad that Dave and Mike have decided to forget about the past and ..........cccevue. (44).
B: Same here! They were such good friends before that meaningless argument.
A: That’s right! I remember that they used to be thick as .........cccceueeee. (45) in the old days.
44- 1) throw down the gauntlet 2) bury the hatchet
3) line their pockets 4) make ends meet

45- 1) thieves 2) grease 3) soup 4) thorns
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Part E: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4)

best fits each space. Then mark the correct choice on your answer sheet.

The relationship between media violence exposure and aggressive behavior has been

the subject of social, political, and scientific attention for decades. Experimental
studies of exposure to violent television and video games .(46) short-term increases in
aggressive behavior in children, adolescents, and adults. Also, correlational studies suggest a
longer-term ..........cocueueeneee. (47) between media violence exposure and aggressive behavior in
the natural environment. The importance of studying the relationship between media
violence exposure and aggressive behavior has increased with the evolution of more
complex and realistic media formats (e.g., from television to video games), which has raised

concerns about the

........................... (48) of early studies of television-based media violence exposure to modern
day television special effects and realistic interactive video games. Home-based video
games, for example, have increased ........ (49) in sophistication, realism, and prevalence
during the past 20 years. This growth and change in media formats .................... (50) more
modern research on the impact of media violence exposure in general and video
game violence in particular. Studies of video game violence exposure have typically

shown a

................... (51) with aggression in samples of children and adolescents. There are good
reasons, such as the participant nature of video-game playing as compared to the more

passive nature of viewing television, to .........

(52) that video game violence exposure may be

more strongly related to aggressive behavior than television violence exposure. One early
experimental study found no difference between the impact of video game vs.
televised violence on short-term aggressive behavior in children (both types of media

violence

........................ (53) short-term aggressive behavior). However, there has been a considerable

46- 1) has shown 2) have shown

47- 1) association 2) determination

48- 1) felicity 2) publicity
49- 1) dramatically 2) hardly
50- 1) have called for lead to

3) has led to calls for

51- 1) relationship significantly positive

3) significant positive relationship
52- 1) exasperate 2) hypothesize
53- 1) torelated were  2) were to related
54- 1) magnitude 2) serenity

55- 1) very recent little
3) little very recently

3) shown 4) shows

3) negligence 4) confidence
3) sincerity 4) applicability
3) legally

2) have called to lead for
4) has lead for called to

4) densely

2) positively relationship significant

4) significant relationship positively
3) incarcerate 4) evade

3) were to relate 4) were related to

3) mutilation 4) sorority

2) very little recent
4) very little recently
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Part F: Reading Comprehension

Direction: In this part of the test, you will read three passages. Each passage is

followed by some questions. Answer the questions by choosing the best choice (1),
(2), (3), or (4). Then mark the correct choice on your answer sheet.

Passage 1:

Roald Amundsen was a key figure in polar exploration. Born to a family of ship-owners and
inspired by Fridtjof Nansen and Sir John Franklin, he grew up immersed in the sea trade. In
1903, Amundsen led the first expedition to successfully traverse the Northwest
Passage. During two winters spent at King William Island, he picked up invaluable tips from
local Inuit people. Many successful expeditions followed, including the race to the South
Pole with Robert Falcon Scott.

In the 1920s, Amundsen had his mind set on an aerial North Pole expedition. The first
attempt in 1923 failed—when trying to fly from Alaska to Spitsbergen, the aircraft was
damaged and Amundsen and his companion Oskar Omdal of the Royal Norwegian Navy
abandoned the journey. In 1925, Amundsen and American Lincoln Ellsworth tried to reach the
North Pole by air. When the aircraft was damaged, the crew worked for more than three weeks
to clean up an airstrip to take off from ice. They shoveled 600 tons of ice while
consuming only one pound of daily food rations. They returned triumphant when everyone
thought they had been lost forever. In 1926, Amundsen and 15 other men, led by aeronautical
engineer Umberto Nobile, made the first crossing of the Arctic in the airship Norge. They left
Spitsbergen on 11 May 1926, flew over the North Pole on 12 May, and landed in Alaska the
following day. Amundsen and Wisting also became the first men to have reached both
geographical poles.

56- The underlined word “he” in paragraph 1 refers to .........cceeeueuee

1) Nansen 2) Franklin 3) Amundsen 4) King William

57- The underlined word “traverse” in paragraph 1 is closest in meaning to .........ccceeeeveueee
1) name 2) discover 3) swim 4) cross

58- According to paragraph 2, which of the following shows the correct chronological order
of events?

1) The crew shoveling 600 tons of ice in order to take off after Amundsen and Omdal
trying to fly to Spitsbergen for the first time

2) Amundsen and Ellsworth trying to reach the North Pole by air after the group, led by
Umberto Nobile, landing in Alaska

3) Amundsen and 15 other men crossing the Arctic by Norge before Amundsen deciding
to go on an aerial North Pole expedition

4) Nobile making the first crossing of the Arctic in Norge before Amundsen and his
Norwegian companion’s first aerial North Pole expedition failing

59- All of the following words are mentioned in the passage EXCEPT ............cccuue.

1) Inuit , , :
2) flight 3) journey 4) triumphant

60- According to the passage, which of the following statements is true?
1) Roald Amundsen was born into a family with little background in sea trade.
2) Until 1920, no man had successfully reached both geographical poles on record.
3) On his way to the Northwest Passage, Amundsen collected lots of money from local people.
4) Amundsen and Omdal managed to successfully fly to Spitsbergen in their first attempt.
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Passage 2:

Earth’s atmosphere is composed almost entirely of the gases nitrogen (78%) and oxygen
(21%), but several gases that exist in trace amounts—concentrations of less than a fraction of
a percent—have a great impact on Earth’s climate. These are greenhouse gases—gases that
allow solar radiation to pass through the atmosphere and warm the Earth, but that absorb the
heat that the Earth radiates back to space, trapping it as a blanket traps body heat to keep us
warm on a cold night. Small changes in the atmospheric concentration of these gases can lead
to big changes in Earth’s temperature and climate, making the difference between ice ages,
when mastodons roamed the Earth, and the sweltering heat in which the dinosaurs lived.
Without the heating caused by the greenhouse effect, Earth’s average surface temperature
would be only about —18 °C. On Venus, the very high concentration of carbon dioxide in the
atmosphere causes an extreme greenhouse effect resulting in surface temperatures as high as
450 °C.

Although the greenhouse effect is a naturally occurring phenomenon, the effect is
intensified by the emission of greenhouse gases into the atmosphere as the result of human
activity. From the beginning of the Industrial Revolution through the end of the 20" century,
the amount of carbon dioxide in the atmosphere increased by roughly 30 percent and the
amount of methane more than doubled. Scientists have predicted that human-related increases
in atmospheric carbon dioxide and other greenhouse gases could lead by the end of the 21
century to an increase in the global average temperature of 0.3 to 4.8 °C relative to the 1986—
2005 average. This global warming will alter Earth’s climates and disrupt food production in
certain regions.

61- All of the following are mentioned in paragraph 1 EXCEPT ......................
1) a gas that can lead to the greenhouse effect
2) two gases that are part of Earth’s atmosphere
3) a gas other than carbon dioxide found in Venus’ atmosphere
4) the way greenhouse gases contribute to warming of the Earth

62- Which of the following best describes the scientists’ prediction about people’s life on Earth
at the end of the 21% century mentioned in paragraph 2?

1) Unimportant 2) Hopeful 3) Ambivalent 4) Alarming
63- Which of the following pairs of techniques is used in paragraph 2?

1) Statistics and Anecdote 2) Cause & effect and Statistics

3) Definition and Cause & effect 4) Anecdote and Definition

64- The passage provides sufficient information to answer which of the following questions?
I. What is the most important human activity contributing to the greenhouse effect now?
I1. What were the causes for the extinction of mastodons and dinosaurs?
III. Is the phenomenon known as greenhouse effect confined to planet Earth?
1) Only III 2) I and III 3) Only I 4)Tand II
65- According to the passage, which of the following statements is NOT true?
1) Data pertaining to the global average temperature in 1986-2005 on Earth have been
collected and are now available.
2) Minor changes in the atmospheric concentration of greenhouse gases can result in
significant alterations to Earth’s temperature and climate.
3) Although greenhouse gases constitute a small fraction of Earth’s atmosphere, they
exert a significant impact on Earth’s climate.
4) Throughout the course of the 20™ century, the concentration of carbon dioxide in the
Earth’s atmosphere approximately doubled.
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Passage 3:

The English Renaissance was a cultural and artistic movement in England dating from the
late 15" to the early 17 century. It is associated with the pan-European Renaissance that is
usually regarded as beginning in Italy in the late 14 century. [1] The beginning of the English
Renaissance is often taken, as a convenience, to be 1485, when the Battle of Bosworth Field
ended the Wars of the Roses and inaugurated the Tudor Dynasty. Renaissance style and ideas,
however, were slow to penetrate England, and the Elizabethan era in the second half of the
16" century is usually regarded as the culmination of the English Renaissance. [2]

The English Renaissance is different from the Italian Renaissance in several ways. The
dominant art forms of the English Renaissance were literature and music. Visual arts in the
English Renaissance were much less significant than in the Italian Renaissance. The English
period began far later than the Italian, which is usually considered to begin in the late 14"
century, and was moving into Mannerism and the Baroque by the 1550s or earlier. [3] In
contrast, the English Renaissance can only be said to begin, shakily, in the 1520s,
and continued until perhaps 1620.

England had a strong tradition of literature in the English vernacular, which gradually
increased as English use of the printing press became common by the mid-16™ century. By
the time of Elizabethan era, a vigorous literary culture in both drama and poetry included
poets such as Edmund Spenser, whose verse epic The Faerie Queene had a strong influence
on English literature but was eventually overshadowed by the lyrics of William Shakespeare,
Thomas Wyatt and others. Typically, the works of these playwrights and poets circulated in
manuscript form for some time before they were published, and above all the plays of English
Renaissance theatre were the outstanding legacy of the period. [4]

The notion of calling this period “The Renaissance” is a modern invention, having been
popularized by the historian Jacob Burckhardt in the 19" century. The idea of the Renaissance
has rightly come under increased criticism by many cultural historians, and some
have contended that the “English Renaissance” has no real tie with the artistic achievements
and aims of the Italian artists (Leonardo da Vinci, Michelangelo, Donatello) who are
closely identified with Renaissance visual art.

66- The underlined word “culmination” in paragraph 1 is closest in meaning to ..........ccceeee.
1) decline 2) longest era 3) high point 4) exemption
67- All of the following are mentioned in paragraph 1 EXCEPT ...........cccceueuee.
1) the century in which renaissance began in Italy
2) the decade in which the Renaissance ended in Italy
3) a name referring to a family of rulers who reigned in England
4) an event proposed as the beginning point for the English Renaissance
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68-

69-

70-

According to the passage, which of the following statements is true?

1) The works of English Renaissance writers, such as Shakespeare and Wyatt, generally
circulated in manuscripts prior to their publication, with drama emerging as a
particularly significant legacy of this era.

2) England enjoyed a rich legacy of Latin literary production, a tradition that flourished
increasingly with the advent of the printing press, which became prevalent by the
mid-16" century.

3) The English Renaissance commenced significantly later than its Italian counterpart,
and then transitioned into Mannerism and Baroque styles by about the 1550s,
ultimately reaching its conclusion in the 17 century.

4) There exists a broad scholarly consensus that Italian masters such as Michelangelo
and Donatello exerted a profound and transformative influence on their English
counterparts during the Renaissance.

Which of the following statements can best be inferred from the passage?

1) Jacob Burckhardt was a prominent historian during the Renaissance period renowned
for his scholarship, particularly his popularization of the term “Renaissance” in the
19" century.

2) Scholars contend that the inception of the Renaissance first in Italy is intrinsically
linked to the nation’s longer monarchic tradition in comparison to other European
nations.

3) The verse epic The Faerie Queene, penned by Edmund Spenser, exerted a profound
influence on subsequent literary works and stood as the most popular literary
masterpiece of the Renaissance period.

4) The so-called “Renaissance” emerged as a general phenomenon, manifesting itself
through various forms of artistic expressions across Europe—for instance in Italy and
England sometime from the 14 to 17™ centuries.

In which position marked by [1], [2], [3] or [4], can the following sentence best be inserted

in the passage?

Like most of northern Europe, England saw little of these developments until more than

a century later.

D] 2) 2] 3) [3] 4) [4]
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Teil A: Grammatik

Hinweis: Mit den folgenden Fragen (1-15) werden Ihre Kenntnisse im Bereich ,,Grammatik*

gepriift. Lesen Sie bitte sorgfiltig die Fragen und entscheiden Sie sich dann fiir die richtigen
Antworten!

1-  Warum dachtet ihr, .......ccueuuue... man hier keine Ruhe hat? Hier ist ja alles still.
1) ob 2) dass 3) weil 4) wenn

2- e die Gefahr besteht, dort muss man hingehen, um mit ihr konfrontiert zu werden.
1) Was 2) Worin 3) Wohin 4) Woher

3-  Die .iiicncnene Fortschritte des letzten Jahrhunderts finden wir im Bereich der
objektiven bzw. empirischen Wissenschaften und der technischen Ficher.
1) prignanteste 2) am pragnanteste
3) pridgnantesten 4) am prignantesten

4-  Dieses wiederholt in deinen Malereien auftretende Motiv, ......ccceeeeeneene bewusst bist, kenne

ich leider noch nicht.
1) dessen du dir 2) dem du dich 3)dessen dudich  4) dem du dir
5-  Welcher Satz ist Zustandspassiv?
1) Du bist krank geworden.
2) Das Fenster ist geschlossen.
3) Das Auto ldsst sich reparieren.
4) Die Tiir darf nicht geschlossen werden.
6-  Zum einen muss er nach Hause gehen, zum anderen will er hier bleiben. Welche Entscheidung

.................. er treffen?
1) will 2) mag 3) darf 4) soll
T evresesnssnsnsnens habe ich Italienisch gelernt.
1) Aufgrund eines Buches 2) GemaR einem Buch
3) Anhand eines Buchs 4) An einem Buch
8- e eines Unfalls kamen gestern Nacht zwei Menschen ums Leben.
1) Trotz 2) Kraft 3) Anhand 4) Wéhrend

9-  Welche Passivform passt zu dem folgenden Satz?
Man geht davon aus, dass die Riuber den Ort verlassen haben.
1) Man wird davon ausgehen, dass der Ort der Réuber verlassen wird.
2) Es wird davon ausgegangen, dass der Ort der Réuber verlassen wird.
3) Es wird davon ausgegangen, dass die Réduber den Ort verlassen haben.
4) Man muss davon ausgegangen werden, dass die Rauber den Ort verlassen haben.
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10- In vieler Hinsicht konntest du ihm .................... , nur diesbeziiglich nicht?
1) geholfen sein 2) geholfen haben
3) zu helfen sein 4) zu helfen zu haben

11- reinne liegt ein solcher Sinn, dass wir uns ausgerechnet heute begegnen!
1) Dariiber 2) Dabei 3) Dazu 4) Darin

12- Kausale Zusammenhinge im Kontext zu verstehen, ist in der Regel nicht so schwer,
1) denn einige Griinde konnen in demselben Text erwéhnt werden
2) obwohl einige Griinde in demselben Text erwahnt werden kénnen
3) wiahrend einige Griinde in demselben Text erwdhnt werden konnen
4) trotzdem konnen einige Griinde in demselben Text erwahnt werden
13- Welcher Haupt-und Nebensatz ist im Konjunktiv I1?
1) Wenn man bedenken wiirde, kdnnte man sehr leicht den Grund dieses Ereignisses feststellen.
2) Wenn man bedenke, konnte man sehr leicht den Grund dieses Ereignisses feststellen.
3) Wenn man bedenke, konne man sehr leicht den Grund dieses Ereignisses feststellen.
4) Wenn man bedachte, konne man sehr leicht den Grund dieses Ereignisses feststellen.
14- Konnten Sie bitte ..........c.cu.u... dieser Schriftstellerin buchstabieren?

1) den vollstindigen Name 2) dem vollstindige Name

3) den vollstdndigen Namen 4) dem vollstindigen Namen
15- Jenes Krankenhaus, von dem du sprichst, ist liingst evakuiert worden. Weit und breit
siecht man dort .........coceuueeee
1) kein Patient 2) keinen Patient
3) kein Patienten 4) keinen Patienten

Teil B: Vokabeln

Hinweis: Mit den folgenden Fragen (16-35) werden Ihre Kenntnisse im Bereich ,,Vokabeln*

gepriift. Lesen Sie bitte sorgfiltig die Fragen und entscheiden Sie sich dann fiir die richtigen
Antworten!

16- Sieh da! Was fiir eine tolle Uberraschung! Das ...........ccoeuvee. deiner Kindheit steht da!
Willst du nicht zu ihm gehen?
1) Tort 2) Idol 3) Sinnbild 4) Individuum

17-  Seit sieben Stunden ist das Flugzeug uiberfillig. Langer kann man nicht im Flughafen
1) warten 2) landen 3) aussitzen 4) absagen

18- e lassen wir diesmal die Karten verkehrt mischen. So konnen wir auch endlich mal
wieder etwas Spal} haben!
1) Abwendungshalber 2) Ablenkungshalber
3) Abweichungshalber 4) Abwechslungshalber

19- Die ..covvenenene Auseinandersetzung mit dem Thema ist kein gutes Zeichen fiir die
aktuelle Lage der Wissenschaft hierzulande.
1) mangelhafte 2) turbulente 3) makellose 4) markante

20- Welche Wortgruppe passt nicht zusammen?
1) groBziigig — freigebig — gebefreudig
2) liederlich — nachldssig — ungenau
3) betroffen — betriibt — betrogen
4) spontan — impulsiv — uniiberlegt



¥ axio 522E SWl ob;

21-

22-

23-

24-

25-

26-

27-

28-

29-

30-

31-

32-

33-

34-

35-

Bittere Schicksale der Helden enden ................... , wie ein vom Untergang der Gotter
handelndes Schauspiel.

1) tragisch 2) komisch 3) absurd 4) frohlich
................... Sie bitte Thre Ruhe! Das Spiel ist noch nicht verloren! Noch haben Sie die
Chance, um am Ende als Gewinner rauszukommen!

1) Befreien 2) Behalten 3) Belegen 4) Bewahren

) 1) des Textes ist so grof3, dass man ihn nicht einmal innerhalb einer Woche
lesen kann.

1) Inhalt 2) Absatz 3) Umfang 4) Rahmen

Wer einen .......coeeeeenes stillt, muss auch auf die eigene Ruhe achten, damit er keinen
zusitzlichen Stress bekommt.

1) Kranken 2) Séugling 3) Verletzen 4) Wahnsinnigen
Aufgrund des Todes unseres Grofivaters haben wir grofie psychische Schmerzen .................
1) erlitten 2) ertragen 3) erlegt 4) ersetzt

Wer in dieser Behorde keine .......cccceeeeee machen will, muss nach vorne schauen und sich
bereitwillig zeigen, das Gewiinschte zu leisten!

1) Meldungen 2) Kiindigungen

3) Riickschritte 4) Absagen

Sobald er die frohe Nachricht iiber das Kind gehort hat, fiihlte er sich ........ccccevveuenee.

1) erledigt 2) erleichtert 3) entzaubert 4) entwaffnet
Welches Wort gehort nicht zur Reihe?

1) Kopie 2) Abschrift 3) Nachbildung 4) Unterschrift

An jenem Abend war alles perfekt und .................... ! Was Besseres kann man sich nicht
wiinschen.

1) turbulent 2) respektlos 3) tadellos 4) verbliiffend
Wenden Sie sich bitte an die betreffende Stelle! Denn fiir diese Arbeit sind wir nicht ...............
1) fertig 2) solide 3) zusténdig 4) konkurrenzfahig
Diese Blitter gehoren nicht zu euch. Ihr .................... euch im Irrtum.

1) befindet 2) sehnt 3) fiihlt 4) ziert

Warum musst du immer aus der Reihe .................... ? Kannst du dich nie anpassen?

1) wandern 2) tanzen 3) treten 4) gehen

Sein Vater hat Kkein ........ccceeuenene mehr, aber er will ihm nach wie vor das Mark aus den
Knochen saugen!

1) Abbild 2) Motiv 3) Geld 4) Schema

Seine iibersetzerische Leistung fanden wir ........ccccceueee. , sodass er demnéchst bei uns als
offizieller Ubersetzer arbeiten kann.

1) beklemmend 2) beeinflussend

3) beeintrachtigend 4) beeindruckend

Bei der ......cccoevuneee kann man durch die Wahl niederer oder hoherer Temperaturen
hinsichtlich des Kontrastreichtums des Bildes ein besseres Ergebnis erreichen.

1) Gelegenheit 2) Verlegenheit

3) Bejahung 4) Witterung
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Teil C: Wortreihenfolge und Satzstruktur

Hinweis: Welcher Satz (36-40) ist grammatisch und inhaltlich korrekt?

36- Welche Satzreihenfolge ist richtig?
1) In meinem Schrank die Kleider habe ich in Ordnung gebracht.
2) Die Kleider in meinem Schrank habe ich in Ordnung gebracht.
3) In Ordnung habe ich in meinem Schrank die Kleider gebracht.
4) In Ordnung ich habe gebracht in meinem Schrank die Kleider.
37- Welche Satzstruktur ist richtig? Obwohl .....................
1) ich weiB, dass du bei mir bist, bekomme ich manchmal Angst
2) ich weiB, dass du bei mir bist, ich bekomme Angst manchmal
3) weil ich, dass du bei mir bist, ich bekomme manchmal Angst
4) weil} ich, dass du bei mir bist, bekomme ich Angst manchmal
38- Welche Option ist fiir folgendes Beispiel falsch?
Gestern hat sie mich unterwegs gesehen. Sie ist aber nicht stehen geblieben, um mich zu
griiflen.
1) Sie hat mich gestern unterwegs gesehen, trotzdem ist sie nicht stehen geblieben, um
mich zu griiflen.
2) Obwohl sie mich gestern unterwegs gesehen hat, ist sie nicht stehen geblieben, um
mich zu griiflen.
3) Sie hat mich gestern unterwegs gesehen, trotzdem sie ist nicht stehen geblieben, um
mich zu griiBen.
4) Auch wenn sie mich gestern unterwegs gesehen hat, ist sie nicht stehen geblieben,
um mich zu griiBen.
39- Welche Haupt- und Nebensatzkombination ist richtig?
1) Etwas freundlicher vielleicht ich werde beim nachsten Mal zu den Gésten sein, um
die Beziehungen zu pflegen.
2) Beim néchsten Mal ich werde vielleicht etwas freundlicher zu den Gésten sein, um
die Beziehungen zu pflegen.
3) Ich werde beim néichsten Mal etwas freundlicher zu den Gésten vielleicht sein, um
die Beziehungen zu pflegen.
4) Um die Beziehungen zu pflegen, werde ich vielleicht beim nidchsten Versuch etwas
freundlicher zu den Gésten sein.
40- Erginzen Sie den folgenden Satz!

Sobald man ihnen mitgeteilt hat, .................... , sind sie verschwunden.
1) dass sie nicht hier bleiben zu diirfen ~ 2) nicht hier bleiben zu diirfen
3) hier nicht bleiben diirfen 4) nicht hier bleiben diirfen

Teil D: Sprachverwendung

Hinweis: Welche Formulierung (41-45) ist der korrekte Ausdruck?

41- Er hat dich langst ........cueuvueuenene Sie ist schlieflich ein alter Hase.
1) nicht mehr gesehen
2) mit seinen Worten gekrénkt
3) vor diesen Schwierigkeiten gewarnt
4) mit den anderen immer wieder verwechselt
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42- Kommen wir jetzt bitte zum Boden der Tatsache und ................... !
1) bleiben auf dem Teppich 2) sitzen wir nicht auf Nadeln
3) erleben wir unser blaues Wunder 4) lassen uns nicht aus der Ruhe bringen
43- Thr habt euch nach einer langen Trennung nicht gesehen. Sagt mal! Konnt ihr euch .......... ?
1) mindestens diesmal wieder verzanken 2) wiederum damit auseinandersetzen
3) erneut voneinander trennen 4) wieder vertragen

44- ,,Das ist alles kalter Kaffee* bedeutet: Das ist ......ccceereereennne
1) etwas Uninteressantes 2) nicht mehr aktuell
3) ist sehr iippig 4) sehr brisant

45- Welche Option passt zu ,,Er kann davon ein Lied singen.“? Er kann ........cccoceeeeuens
1) liber etwas aus eigener unangenehmer Erfahrung berichten
2) sehr leidenschaftlich mit dem Singen auskommen
3) jemandem mit einem Lied Freude machen
4) tiber ein Ereignis viel und lange berichten

Teil E: Liickentext

Seit mehr als einem halben Jahrhundert haben die westlichen Wissenschaftler das Studium

der Mythen in eine neue Perspektive ................... (46) Diese neue Perspektive ................. (47)
sich von der etwa des 19. Jahrhunderts deutlich. Sie .................... (48) den Mythos nicht mehr
wie ihre Vorgénger im {iblichen Sinne des Wortes, d. h. als ,,Fabel®, , Erfindung*, ,,Fiktion®.
Sie nahmen ihn so, wie er in den archaischen Gesellschaften ................. (49) wurde, in denen
der Mythos eine ,,wahre Geschichte* und aulerdem hdchst kostbare, heilige, exemplarische
und bedeutsame Geschichte ................. (50). Doch dieser neue semantische .................... (51),
der dem Wort ,,Mythos* zugestanden wurde, ldsst seine Verwendung in der Alltagssprache
recht zweideutig ..........oone.... (52). Denn das Wort wird heute ebenso im Sinn von ,,Fiktion*
oder ,Illusion® ................... (53). In der Antike bezeichnete aber das Wort mythos, das im
Gegensatz zu logos sowie spiter zu historia ................... (54), schlieBlich alles, was nicht
wirklich ................... (55) kann.

46- 1) gestiirzt 2) gertickt 3) verwickelt 4) geschoben

47- 1) zierte 2) beklemmte 3) verschétzte 4) unterschied

48- 1) belohnten 2) bestritten 3) behandelten 4) bezifferten

49- 1) vertauscht 2) verstanden 3) verlegt 4) vertilgt

50- 1) besetzt 2) berufen 3) bedeutet 4) bezeichnet

51- 1) Wert 2) Zustand 3) Schein 4) Ansatz

52- 1) absagen 2) abwarten 3) erscheinen 4) ausmachen

53- 1) erneuert 2) gebraucht 3) ausgesetzt 4) ergriffen

54- 1) ging 2) lag 3) sal3 4) stand

55- 1) existieren 2) fehlen 3) atmen 4) absagen
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Teil F: Leseverstehen

Text 1:

Ich arbeite auf Station A, in der chirurgischen Abteilung. Wir betreuen vierzig Patienten rund um
die Uhr, in drei Schichten. Der Friihdienst beginnt um 6 Uhr und endet um 14 Uhr. Der
Spétdienst dauert von 12 Uhr mittags bis 20.30 Uhr und der Nachtdienst dauert von 20 Uhr bis
6.30 Uhr. Meine Aufgaben sind sehr unterschiedlich und abhdngig von meinem Dienst. Der
Friihdienst sieht z.B. so aus: Ich wecke die Patienten um 6.30 Uhr, einigen helfe ich beim
Waschen und um 7 Uhr gibt es Friihstiick. AnschlieBend rdume ich ab und mache die Betten.
Dann messe ich Fieber und den Puls, erneuere Verbande und gebe Medikamente. Andere
Patienten bereite ich fiir die Operation vor. Jeden Vormittag ist Visite, aber daran brauche ich
nicht teilzunehmen. Ich teile auch die Zivildienstleistenden und Praktikanten und
Praktikantinnen ein. Sie bringen Patienten zur Therapie oder zum Rontgen. Am Ende meines
Dienstes mache ich die ,,Ubergabe®, d.h. ich informiere den Kollegen oder die Kollegin der
ndchsten Schicht {iber die Patienten.

56- Dem Inhalt des Textes entnimmt man, dass es sich beim Ich-Erzahler um einen ......ccooeeeeee
handelt.
1) Arzt 2) Patienten 3) Krankenpfleger ~ 4) Psychologen

57- Was macht der Ich-Erzihler im Krankenhaus?
1) Er kiimmert sich stindig um die Kranken.
2) Er bearbeitet die Urkunden von Arzten.
3) Er behandelt die Akten von Kranken.
4) Er ist fiir den Zivildient zusténdig.
58- Was gehort zu den Aufgaben des Ich-Erzihlers?
1) Er bereitet die Kranken auf schlafen vor.
2) Er verbietet den Kranken jegliches Waschen.
3) Er lasst die Kranken schlafen und hilft beim Putzen.
4) Er hilft einigen Kranken beim Waschen und gibt thnen Friihstiick.
59- Was machen die Zivildienstleistenden und Praktikanten? Sie ........ccccceueueee.
1) machen den Zivildienst und bringen den Kranken in einem Krankenhaus die Medikamente
2) machen eine Ausbildung und helfen den Kranken in einem Krankenhaus
3) sind diejenigen, die im Krankenhaus Medikamente bekommen miissen
4) helfen den Arzten bei einer Operation in einem Krankenhaus
60- Ubergabe ist nach dem Inhalt des Textes ..........coeerreeens
1) eine Option fiir alle Arzte
2) eine Pflicht fiir alle Kranken
3) dann méglich, wenn die Arbeitszeit endet
4) dann moglich, wenn man seine Arbeitszeit beginnt
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Text 2:

Zu Beginn des 19. Jahrhunderts war das bildungspolitische Ideal der Erziehung mafigeblich
durch das humanistische Gedankenpotential gepragt. Einer der fithrenden Personlichkeiten war
Wilhelm von Humboldt, fiir den die Padagogik sowie die damit verbundene Aufgabe der
Erziehung verkniipft war mit der Neugestaltung des preuBischen Unterrichts im Geiste des
Neuhumanismus. Das bedeutete, dass das klassische Personlichkeitsideal als Bildungsgut
bestimmend sein sollte. Diese neuhumanistische Bildungsreform war als Antwort auf die
Bedrohung der deutschen Universitdt zu verstehen, die darin bestand, dass die Universitit
zunechmend den Charakter einer Fachschule zur Ausbildung des Nachwuchses fiir die
traditionellen Berufe (Lehrer, Theologe, Jurist, Arzt) sowie vor allem fiir die biirgerliche
Beamtenschicht annahm. Kennzeichnend war eine kritische Distanz von der Wirklichkeit der
sich entwickelnden biirgerlichen Gesellschaft.

61- Das 19. Jahrhundert war fiir die Prigung des bildungspolitischen Ideals der Erziehung

1) wichtig 2) irrelevant
3) tiberfliissig 4) zweierlei zu bewerten

62- Fiir Wilhelm von Humboldt bedarf das Fachbereich ,,Pidagogik“ sowie die damit
verbundene Aufgabe der Erziehung .....................

1) keiner Neugestaltung im Sinne des neuhumanistischen Geistes

2) einer Neugestaltung im Sinne des neuhumanistischen Geistes

3) keiner Neugestaltung im eigentlichen Sinne

4) einer Neugestaltung im eigentlichen Sinne
63- Das klassische Personlichkeitsideal sollte ...........ccceueneee

1) dem neuhumanistischen Bildungsideal als Bildungsgut {iberlegen sein

2) dem neuhumanistischen Bildungsideal als Bildungsgut unterlegen sein

3) neben dem neuhumanistischen Bildungsideal als Bildungsgut bestimmend sein
4) mit dem neuhumanistischen Bildungsideal als Bildungsgut einen Kontrast bilden 64-
Die neuhumanistische Bildungsreform entstand als Antwort auf die zunehmende

Charakterbildung der deutschen Universitit ..........ccevueneeee

1) zugunsten der Entstehung einer Fachschule zur Ausbildung des Nachwuchses
2) zugunsten der Entstehung einer Fachschule zur Ausbildung von Eltern

3) zur Begriindung einer Fachschule zur Ausbildung aller Schichten

4) zur Etablierung einer Fachschule zur Ausbildung der Lehrkrifte
65- Die kritische Distanz von der Wirklichkeit der sich entwickelnden biirgerlichen

Gesellschaft war .........cccceueunee

1) keineswegs kontrovers

2) im humanistischen Geiste verankert

3) eine Antwort der Universitét als Fachschule

4) markant fiir die neuhumanistische Bildungsreform
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Text 3:

,Das Pflaster des Lebens®, so der englische Schriftsteller William Makepeace Thackeray
(1811-1863) in seinem Roman ,,Die Abenteuer des Philip®, ,,ist mit Orangenschalen bestreut;
und wer ist nicht schon auf den Steinen ausgeglitten?*

Thackeray beklagt die bittere Erfahrung, dass unser Leben voller unangenehmer
Uberraschungen ist, die ihre Ursache leider zu oft in der Unachtsamkeit anderer haben. Denn
Apfelsinnenschalen gehoren nicht auf die Stral3e, sondern auf den Komposthaufen oder in die
Biotonne. Eine von Gleitgut freie gepflasterte Strafle wire ein trittfester Weg, auf dem sich
verldsslich und geradeaus schreiten lieBe. Der Fu3 verfingt sich da nicht in 16chrigem oder
morastigem Grund, der Schuhwerk und Beinkleider des Strauchelnden zudem noch hésslich
beschmutzt. Die Bequemlichkeiten, die gepflasterte Strafen bieten, sind Frucht ihrer
Trockenlegung und Befestigung mit besonders hartem Gestein, wie Blaubasalt zum Beispiel.

66- Dem Inhalt des Textes entnimmt man, dass man mit dem im Text erwihnten Roman

.................... meint
1) die literarische Epoche ,,Romantik® 2) eine Beichte des Erzihlers
3) eine literarische Schrift 4) ein Sachbuch

67- Thackeray beklagt in seinem Roman ............cccucu....

1) bittere Erfahrungen in unserem Leben
2) Unangenehme Uberraschungen in unserem Leben
3) Unannehmlichkeiten mit verschiedensten Ursachen
4) jegliche bittere Erfahrungen und unangenehme Uberraschungen
68- Nach dem Inhalt des Textes .......ccsesneniuene
1) gehoren die Apfelsinnenschalen nicht auf die Strallen
2) soll man die Apfelsinnenschalen nicht in die Biotonne wegwerfen
3) gehoren die Apfelsinnenschalen sowohl auf den Komposthaufen als auch auf die Stral3e
4) sind die Apfelsinnenschalen wie die Unannehmlichkeiten, die von uns verursacht werden 69-
Ein trittfester Weg
1) kann im Schuhwerk Locher verursachen
2) ist ein Weg, in dem sich der Fuf3 in 16chrigem oder morastigem Grund verfangt
3) ist kein gepflasterter Weg, auf dem sich verldsslich und geradeaus schreiten lieBe
4) kann eine gepflasterte Strafle sein, auf dem sich verldsslich und geradeaus schreiten
lieBe
70- Welche Aussage ist im Hinblick auf den Inhalt des Textes falsch?
1) Blaubasalt ist ein besonders hartes Gestein.
2) In den bequemen, gepflasterten Stralen findet man Frucht.
3) Die Trockenlegung und Befestigung beziehen sich auf die gepflasterten Straf3en.
4) Die gepflasterten Stralen sind bequem, trocken und mit hartem Gestein befestigt.
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Partie A: Grammaire

Complétez les phrases suivantes en cochant la réponse correcte:

1-  Pendant la féte de la musique, beaucoup de .......cceeueuee ont lieu dans les mairies.
1) récitals 2) récitale 3) récitales 4) récitaux
2-  Voila une nouvelle vraiment ..........ccccu... qui apparait dans les sociales média.
1) surprenant 2) surprenantes 3) surprenants 4) surprenante
3-  Sophie et Jeanne, ........cccoeueue. sont des amies d'enfance.
)il 2) eux 3) elles 4)elle
4-  Tu as déja été ..., Chine pour signer des contrats.
l)ala 2) au 3)en 4)a
5-  Pierre donnait son adresse quand soudain la charge de son portable ............ccceue.
1) est terminée 2) a été terminée 3) terminait 4) termine
6- Il faut que vous ......cccceveueuee votre lecon pour la prochaine séance.
1) sachiez 2) sachez 3) savez 4) saviez
7-  Le serveur recevra un pourboire quand il ........cccceeeuen. les clients.
1) sert bien 2) a bien servi 3) servira bien 4) aura bien servi
8-  Ce sont les crises économiques .........ceeeeeenee le pays souffre.
1) dont 2) ou 3) que 4) qui
9-  Sile cycliste n'était pas tombé, son adversaire ..........cceus.. la course.
1) ne gagnerait pas 2) n'aurait pas gagné
3) ne gagne pas 4) n'a pas gagné
10- Lorsqu'un diabétique a des vertiges, on doit .........c.eeeuecn. consulter un médecin.
1) brusquement 2) exactement 3) immédiatement  4) lentement
11-  On comprend .......cccvueuenee la grammaire si on fait des exercices.
1) bon 2) mieux 3) meilleur 4) la meilleure
12-  Du travail ......cceeeueennes beaucoup en ce moment.
1) je l'ai 2)j'yai 3) je lui ai 4) j'en ai
13- Les services qu'elle a ...........cuue.. sont innombrables.
1) rendus 2) rendu 3) rendue 4) rendues
14- J'aime bien les sandales; je trouve que .......cceceueune ne sont pas aussi jolies.
1) la mienne 2) les miennes 3) les miens 4) le mien
15- Les enfants ont couru vers leurs parents dés qu'ils les .......ccceeveurueees
1) verront 2) voient 3) voyaient 4) avaient vus

Partie B: Vocabulaire

Complétez les phrases suivantes en cochant la réponse correcte:

16- Ce vase en porcelaine est trés précieux: n'y ......coevcecenees pas!
1) sens 2) tate 3) touche 4) palpe

17- On peut se marier a la .......cccoecueueee a condition d'avoir une habitation dans la commune
ou on réside.
1) mairie 2) préfecture 3) municipalité 4) collectivité

18- Pour les éléves en difficultés scolaires, 1es .....c.cceeereereene sont a effectif restreint.

1) lecons 2) cours 3) classes 4) séminaires
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19-

20-

21-

23-

24-

25-

26-

27-

29-

30-

31-

32-

33-

35-

Les paysans habitant dans ................... s'occupent plus facilement de leurs animaux.

1) un appartement ~ 2) une ferme 3) un couvent 4) un studio

Dans les films westerns, on voit les indiennes avec de jolies ........ccceceveuencee

1) meches 2) chignons 3) anglaises 4) tresses
.................... je n'oublie jamais d'acheter des lIégumes pour la soupe.

1) Au marché 2) A la boulangerie

3) A la crémerie 4) A la boucherie

Partout dans le monde, la canicule et les vagues de chaleur ................... constituent un
risque sanitaire pour la population.

1) en été 2) en hiver 3) au printemps 4) a l'automne

Les footballeurs portent .................... de foot lors des match.

1) un casque 2) des gants 3) un maillot 4) des survétements
Autrefois, on faisait du feu dans la ................... pour chauffer la maison.

1) radiateur 2) cheminée 3) puits 4) foyer

Quand j'étais jeune, une abeille ................... et depuis ce jour 12 j'ai une allergie au miel.
1) m'a gratté 2) m'a mordu 3) m'a blessé 4) m'a piqué

En France, le repas du soir est traditionnellement .............ccceusu..

1) des légumes 2) une soupe 3) des crudités 4) une viande

Les alpinistes ont atteint le sommet de la ................... et ont battu leur record.

1) vallée 2) forét 3) chute 4) montagne

Pour assister aux spectacles de I'opéra de Paris, on devrait .........ecererenens

1) étre comédien soi-méme 2) parler plusieurs langues

3) avoir un abonnement 4) connaitre les acteurs

Les mineurs portent ........cceeeune sur la téte pour se protéger.

1) un casque 2) un bonnet 3) un béret 4) un toque

La banque doit accepter .........ceeueneee mobile pour régler les factures.

1) le jeton 2) le paiement

3) le cachet 4) le financement

On construit ......cceeeueeenes pour retenir une grande quantité d'eau.

1) un avenue 2) des rails 3) un barrage 4) une route

Il est possible d'effectuer ........cccervueenes dans une entreprise pour se préparer a la vie
professionnelle.

1) une classe 2) une legon

3) un cours 4) un stage

Le médecin qui suit des malades et gere leur santé dans sa globalité est ......................

1) un généraliste 2) un psychologue

3) un dermatologue 4) un cardiologue

On admire aujourd'hui I'Ethiopie comme étant le berceau du meilleur ............... du monde.
1) gaz 2) the 3) café 4) pétrole

Pierre s'intéresse a la poésie et .......ccerrevenene par cceur des milliers de poémes.

1) reconnait 2) connait 3) acquiert 4) sait
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Partie C: Les fonctions de la langue

36- Docteur: Vous avez des douleurs quelque part?
Pascal: Oui docteur j'ai mal partout.
Docteur: Vous avez mal partout, ou par exemple?
Pascal: J'ai souvent mal a la téte, je prends de I'aspirine mais ca ne me fait rien.
Docteur: Bien, je vais vous faire une ordonnance.
Pascal: C'est grave docteur?
Docteur: Non, ce n'est pas grave, un peu d'anxiété c'est tout.

Quelle est la maladie de Pascal?

1) L'anxiété 2) La grippe 3) La migraine 4) Le thume
37- Vendeuse: Bonjour Madame. Comment puis-je vous aider?

Cliente: Bonjour, je voudrais acheter une robe.

Vendeuse: .........ceueueeee.

Cliente: J'aimerais trouver une robe simple, peut-étre de la soie?

Vendeuse: De quelle couleur?

Cliente: A motifs blancs ou multicolore avec des fleurs.

1) Que prenez-vous? 2) Combien cofite-elle?
3) Comment la trouvez-vous? 4) Quel genre de robe désirez-vous?
38- Voyageur: Bonjour Monsieur, je voudrais un aller simple pour Nice s'il vous plait pour
cet aprés midi?
Employé: Il y a un train a 16h10 et un autre a 17hS.
Voyageur: celui de 17h5 s'il vous plait.
Employé: ¢a fait 83 euros.
Voyageur: Voila.

Employé: Bon voyage!
1) Le billet cotite 80 euros. 2) Le voyageur part pour Nice.
3) C'est un billet pour Paris. 4) Le voyageur prend le train de 16h10.

39- Marc: Bonjour Monsieur, je souhaiterais ouvrir un compte, pourriez-vous me renseigner?
Employé: Vous devez prendre rendez-vous avec un conseiller et venir avec une piéce
d'identité et un justificatif de domicile.

Marc: Ah oui, pas de probléme. J'aimerais pouvoir consulter mes comptes sur Internet,
c'est possible?
Employé: Bien siir, en vous connectant sur notre site, vous aurez un code pour ¢a.

1) Marc a besoin d'un justificatif de domicile pour ouvrir un compte a la banque.
2) 11 faut une autorisation de la préfecture pour ouvrir un compte bancaire.
3) Marc pourrait ouvrir un compte bancaire sur Internet.
4) Marc peut ouvrir un compte tout de suite.
40- Serveur: Bonjour, une table pour deux?
Client: Oui, nous sommes deux.
Serveur: Tres bien, installez-vous. Voici le menu. Vous avez choisi?
Client: Oui, on prendra une terrine campagnarde.
Serveur: Oui, et en plat principal?
Client: Des steaks frites bien cuites.

Qu'est-ce que le client prend comme plat principal?
1) Le saumon 2) Le steak frites 3) Le poulet frites ~ 4) La pizza



VY axbuo 522E Al yd (b

PART D: la mise en ordre des mots

Placez les éléments suivants dans un ordre correct:

41- doit-il — facteur — quand — passer — le?
1) Le facteur quand doit-il passer? 2) Doit-il passer quand le facteur?
3) Quand le facteur doit-il passer? 4) Quand doit-il le facteur passer?
42- livre — l'auteur — de — n'est — connu — ce — pas — trés
1) L'auteur de ce livre n'est pas trés connu.
2) N'est pas tres connu l'auteur de ce livre.
3) Tres connu l'auteur de ce livre n'est pas.
4) L'auteur de ce livre connu n'est pas trés.
43- de —les — maison — sont — en — volets — la — peints — rouge
1) En rouge sont peints les volets de la maison.
2) Sont peints en rouge les volets de la maison.
3) Les volets de la maison en rouge sont peints.
4) Les volets de la maison sont peints en rouge.
44- enfants — vont — a — ces — en — I'école — vélo
1) Vont a I'école ces enfants en vélo. 2) Ces enfants vont a 1'école en vélo.
3) A 1'école ces enfants en vélo vont. 4) A T'école vont ces enfants en vélo.
45- mauvais — souvenir — plus — qu'un — ne — la — tempéte — sera
1) Qu'un mauvais souvenir ne sera plus la tempéte.
2) Un plus mauvais souvenir qu' la tempéte ne sera.
3) La tempéte ne sera plus qu'un mauvais souvenir.
4) La tempéte ne sera qu'un plus mauvais souvenir.

PART E: Texte a compléter

Complétez le texte suivant a 1'aide des réponses proposées:

Les ordinateurs nous obligent a adopter des .................... (46) statiques et nous amenent a faire
des efforts musculaires peu naturels: des troubles ................... (47) dans les bras, les épaules,
................... (48) ou le dos. Les employés des métiers du tertiaire comme les secrétaires ou
simplement les accros aux jeux vidéos sont les premieres victimes de ces maux des qu'ils

.................. (49) leur ordinateur 3 ou 4 heures par jour. Les syndromes apparaissent au niveau

du e (50). Cela peut devenir trés douloureux au point de ne plus pouvoir dormir
.................... (51) utiliser son bras. Pour prévenir ce genre de risque, quelques reégles de bonnes
conduites peuvent €tre .................... (52). 11 faut se tenir droit sur son si¢ge et garder les
.................... (53) posés bien au sol. L'écran ne doit pas se situer trop bas ou trop haut par
rapport & la hauteur des yeux. Quoi qu'il en .................... (54) il convient de faire des pauses a
intervalles réguliers, .................... (55) les 30 a 35 minutes a peu pres.

46- 1) stations 2) postures 3) attitudes 4) conduites

47- 1) insouciants 2) sérieux 3) 1égers 4) banals

48- 1)lecol 2) le cou 3) la gorge 4) la nuque

49- 1) utilisent 2) a utilisé 3) utiliseraient 4) avaient utilisé

50- 1) manche 2) jambe 3) poignet 4) poignée
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51- 1) jamais 2) plus 3) rien 4) ni

52- 1) appliquer 2) applique 3) appliquées 4) appliqué
53- 1) jambes 2) cuisses 3) genoux 4) pieds
54- 1) était 2) soit 3) est 4) sera

55- 1) tout 2) toute 3) toutes 4) tous

PART F: Compréhension de texte

Lisez les textes suivants et répondez aux questions:

Passage 1:

La mascotte des jeux olympiques de Paris 2024

Lors des jeux olympiques, qui ont lieu tous les quatre ans, des sportifs de nombreux pays
s'affrontent pour essayer de gagner des médailles dans chaque catégorie. Les jeux
paralympiques sont un événement sportif international regroupant les sports d'été ou d'hiver:
des milliers d'athlétes atteints de handicaps physiques ou mentaux participent a différentes
compétitions. Ces jeux ont lieu tous les quatre ans a la suite des jeux olympiques.

La mascotte des jeux olympiques et paralympiques de Paris 2024 sont originales et
marquent une différence avec les mascottes des éditions précédentes des JO, puisqu'elles ne
représentent pas des animaux, mais des bonnets phrygiens! De couleur rouge, ces deux
mascottes, baptisées "les phryges", symbolisent la libert¢ et la Révolution. Les deux phryges,
l'une olympique et I'autre paralympique, aux caractéres différents mais complémentaires, ont
une mission commune: encourager et incarner le sport dans un esprit francais et inclusif. Avec
les phryges de Paris 2024, la révolution par le sport est en marche!

56- Quand ont-ils lieu les jeux paralympiques?

1) Tous les quatre ans 2) Tous les ans

3) Tous les deux ans 4) Tous les huit ans
57- De quelles couleurs sont les mascottes?

1) Vertes 2) Blanches 3) Noires 4) Rouges
58- Que représente la mascotte des jeux olympiques de Paris?

1) Les bonnets phrygiens 2) Le chapeau des maires

3) Le chapeau porté au 19 éme siccle 4) Le chapeau des rois
59- Que symbolise les mascottes des jeux de Paris?

1) La ville de Paris

2) La révolution frangaise
3) L'égalité entre les sportifs et sportives
4) La liberté et la révolution dans le sport
60- Les jeux olympiques de Paris 2024 ont comme ambition de .....................
1) encourager les sportifs handicapés
2) se différencier avec les jeux précédents
3) mettre en marche la révolution par le sport
4) de favoriser certains sports et certains pays
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Passage 2:

L'anniversaire de ma cousine

Hier, nous avons fété le trentiéme anniversaire de ma cousine Charlotte. Elle avait convié ses
invités a venir & 15 heures mais j'étais la plus tot pour aider aux préparatifs.

J'ai mis la table, posé les bougies et décoré tout 1'appartement avec des ballons. J'avais a
peine fini quand on sonne a la porte.

Charlotte a regu beaucoup de cartes d'anniversaire, de bouquets de fleurs et de super
cadeaux. Chaque invité lui a dit un mot gentil comme: "Tu as I'air tellement jeune, tu ne fais
pas du tout ton age! " Lorsque tous les invités furent 13, nous nous sommes assis pour déguster
le gateau d'anniversaire. Charlotte 1'avait commandé chez le patissier pour I'occasion. Sur le
giteau, on pouvait lire, écrit avec de la créme,"Joyeux anniversaire Charlotte". Toute sa
famille était venue.

Charlotte et moi avions préparé un buffet dans la cuisine, chacun pouvait se servir a sa
guise. Nous avions préparé des petits fours, des quiches, une salade de pates et plein d'autres
choses délicieuses et faciles a manger.

Lorsque je reviens de la cuisine, je m'étonne de voir des rubans et du papier cadeau déchiré
par terre dans le couloir. Je suivis la trace et découvrit les malfaiteurs: les chats de Charlotte
avaient déchiré¢ 1'emballage d'un petit cadeau. Et tandis qu'un chat jouait avec le noeud, 1'autre
voulait justement manger le cadeau: un pain de savon. Je confisquai vite le savon qui était
déja un peu entamé. J'espere qu'aucune bulle de savon ne se formera la prochaine fois que le
chat boira de l'eau.

61- Hier, ma cousine Charlotte a e .....ccccecevueneee .

1) 18 ans 2) 20 ans 3) 30 ans 4) 40 ans
62- Chaque invité a dit un mot gentil comme .....................

1) merci pour les cadeaux 2) tu as l'air tellement jeune

3) comme c'est bien décor¢ ici 4) c'est gentil de nous avoir invité
63- Ou avait-on commandé¢ le gateau d'anniversaire?

1) Chez le patissier 2) Au supermarché

3) Chez un traiteur 4) Chez le boulanger

64- Quel est le diner de la soirée?
1) Un repas gastronomique du restaurant  2) Un grand repas dans le salon

3) Un barbecue dans le jardin 4) Un buffet facile a manger
65- Qui a déchiré I'emballage d'un petit cadeau?

1) Les enfants de Charlotte 2) Les chiens de Charlotte

3) Les chats de Charlotte 4) Les souris de la cuisine
Passage 3:

Les vacances d'hiver

"Il a neigé!" cria Jean tout excité lorsqu'il regarda par la fenétre ce matin 1a. Il était allé a la
montagne avec ses amis Sophie, Charles et Félix pour les vacances d'hiver. Mais jusque- 1a,
il n'y avait pas eu assez de neige pour faire du ski. A présent, tout était blanc, le sol était
recouvert de 50 cm de neige. Il avait di neiger toute la nuit!

Jean réveille vite ses amis qui eux aussi en crirent a peine leurs yeux, "Enfin!" s'écriérent-
ils. Ils étaient tous de gros dormeurs, mais rien ne les retint au lit. Ils voulaient aller dans la
neige aussi vite que possible. Méme le froid ne les dérangeait pas, il y avait en effet beaucoup



\F azieo 522E dwnil b 43

a faire. Tout d'abord, les amis construisirent un bonhomme de neige, puis ils firent une bataille
de boules de neige. Ils allérent dans les montagnes avec la luge et le snowboard. Sophie avait
méme emporté ses patins a glace.

Les enfants n'étaient pas les seuls a se réjouir de la neige. Derriere eux, on pouvait voir
des skieurs monter en télésiége et descendre a skis a toute vitesse. Il y avait un ours blanc
équipé de skis! Seul le bonhomme en neige tremblait de froid, il aurait aimé étre en été. Il
avait un rhume et des stalactites de glace pendaient a son nez.

Comment? Un bonhomme de neige enrhumé et un ours blanc a ski? Jean se retourna
décontracté. Oh non! Il était encore dans son lit, ce n'était qu'un réve! Dégu, il regarda la rue
par la fenétre. Mais un moment! Tout était bien blanc!

"Il a neigé!" Cria tout excité pour réveiller ses amis.

66- Le texte ci-dessus est ........ceceruerenene

1) un discours 2) un récit de réve

3) un compte-rendu 4) un rapport
67- Ou Jean passe-t-il ses vacances d'hiver?

1) A la montagne 2) Au bord de la mer

3) Chez ses grands-parents 4) Dans une colonie de vacances
68- Jean et ses amis sont dégus ........cceeeeuerenne

1) parce qu'ils n'ont pas pu skier

2) parce qu'ils sont tous tombés malades

3) a cause de la fracture de jambe de Jean

4) car il n'a pas assez neigé pendant leur séjour

69- Jean est mécontent de se rendre compte qu'il s'agit ......................
1) d'un désir 2) d'un film
3) d'un réve 4) d'un accident

70- Pourquoi Jean a-t-il réveillé ses amis?
1) Pour leur proposer des activités pour la journée
2) Pour leur annoncer qu'il neigeait
3) Pour le départ a la gare
4) Pour le petit-déjeuner
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1. 'paMMaTHKa PycCKOro si3bIKA

HucTpykuus: B kaxaoM Bonpoce Boi0epuTe NPABUIBHbINA BAPHAHT.

1-  AHHA BCeraa 3200THTCH vveevveennnenn.

1) k cBOUM Jpy3bsSIM 2) 0 CBOMX Jpy3biX

3) cBou 1py3bs 4) cBoux spy3eit
2-  OH XO0YeT BCTPETHTD cevvvvrrenennnne Ha BOK3aJe.

1) 6para 2) 6par 3) o Opate 4) 6pary
3- S He3HAN, ....cuevvenrnnnn OHa ObLIa B MYy3ee.

1) komy 2) c keM 3) K KoMy 4) koro
4-  OH HE 3HACT, «.evvverenrnraen MOM/IeT HA IKCKYPCHIO.

1) Ha uto 2) c uem 3)rae 4) kTo
S- Emy Bceraa HpaBHJIACh ....cuveveneen.
................ 1) nutepatypy 2) nurepatypoi 3) nutepatypa 4) nutepatype
6- S mpoYHMTAN PACCKA3, «ovvvverninnnnnn ThI TOBOPUJI MHeE.

1) o xoTopom 2) KOTOpBIN 3) xoToporo 4) koTopomy
7-  Ilo mopore AOMOM fl ....eevvvnrnnne K IpYry.

1) yexan 2) nepeexan 3) 3aexan 4) Briexan
8- VY Anrona ase...............

1) cectpoit 2) 3) cectpa 4) cecTpsl
9-  YueOHslii roa B Poccun HauMHAeTC ...............

1) B ceHTa0pb 2) B ceHTAOpe 3) 4) centaOpém
10- BoJoasi COOMPAETCSH ..vvvvrnrnrnnrnne B Upan.

1) moener 2) moexain 3) moexathb 4) moexana
11-  CKOJBKO CTOAAT «evvvvvrenrnnenn KHUTU?

1) aToT 2)3ta 3) 310 4) 5ti
12- Bce 3a7a4¥ ObIJIH PEILCHBI «uevvevrenennenn 3a yac.

1) mHoiA 2) 4 3) MeHs 4) mue
13- IlpemogaBaTeiib, ....ccuvvrnnnee HOBYIO TeMY, 1aBaJl MHOT'0 IIPUMEPOB.

1) oObscHstONyI0  2) 0OBACHAIOMME  3) 00BsICHIEMYIO  4) OOBSCHSIOIIETO
14- B 1eTcTBe MBI YACTO HTPATH cvvvveernrnrnnnnne

1) B HACTOJIbHBIE UTPBI 2) OT HACTOJIbHBIX UTP
3) ¢ HaCTOJILHBIMU UTPAMHU 4) HaCTOJIbHbIE UTPBI
15- Hama koMaHJIa J0CTHIJIA HA YeMITHOHATE MHPA «.vvvvvrunnenes
1) ¢ xopommmu pe3yabTaTamu 2) 0 XOpoIKX
3) XopomuM pe3yspTaTam 4) XOpOIIMX pe3ysIbTaToOB

2. Jlekcuka pycckoro si3bIika

Hucrpykuus: B kaxaom Bonpoce BoidepuTe NPaBUIbHbINH BAPHAHT.

16- Omna ................. NOMOYb MHE NepeBecTH TEKCT.

1) ymeer 2) 3HaeT 3) moxeT 4) xoTeTh
17- Ouabra 3aech 60/b1Ie He KHBET. OHA cvvvvvvrnennnen HA HOBYI0 KBapTHPY.

1) npuexana 2) 3aexana 3) yexana 4) nepeexana
18- MHe TPYAHO ....cuvvnrennnne 3TO0 CTHXOTBOPEHHE.

1) yuurbes 2) BBIYYUTh 3) noyuurcs 4) Hay4YuTh



19-

20-

21-

22-

23-

24-

25-

26-

27-

31-

32-

33-

34-

35-

S yKe IBA TO/IA .......ceuv...ee. CTIOPTOM.

1) 3aHMMAarOCh 2) urparo 3) yuychb 4) u3yyaro
Kak Ha3bIBaeTcs ................. CTAHIAS MeTPO?

1) aTo0 2) sTOT 3)ata 4) 5t
Ykaxure cioBa, koropbie HE siBasitoTcs aHTOHMMaMH.

1) no3Huii - paHHU 2) KECTKUM - MITKUH

3) MUHYC - TUTIOC 4) TsoKENBIN - OOJBIION
Ykaxute CJ10Ba, KOTOPLIE HE siBasi10TCA CHHOHMMAMHU.

1) apyr - ToBapwuiIy 2) TOPIOCTD - CKPOMHOCTb

3) mymathb - pa3MbILILIATh 4) xapaynuTh - CTOPOKHUTD

Yro o3HauaeT Gppaseoaoru3m «co0aKy checTb»?
1) uMeTh GOJBIION OIBIT B KAKOM-TO JIEJIC

2) OBITH OUEHB T'OJIOJIHBIM

3) He 3aMETUTh YTO-TO

4) nomycTUTh OLINOKY

AnHa u Hatama 4acro ................. IpYr ¢ APYroOM.

1) pacckaspiBaloT ~ 2) OTBEYAIOT 3) pasroBapuBaoT  4) NOCTyIIAIOT
Korna s men B Teatp, 1 CIy4aiiHoO ................. CBOET0 Ipyra.

1) yBugencs 2) BCTpeTHII 3) BcTpeTmIics 4) yunena

Korna st npuay nomoii, s yay ................. HOBOe CTUXOTBOpPEHHe.

1) yuutsb 2) 3aHUMAThCS 3) U3y4uTh 4) yuntbcs
YKa:KuTe AaHTOHUM K CJIOBY «/I€Hb).

1) no3nHo 2) Beuep 3) conHIe 4) Houb

MBI JOTKHBI ......cveeeee... PAOOTATH B IMHIFAQOHHOM Ka0MHETE H 10MA, YTOOBI OBJIAACTH
PYCCKHM IPOH3HOLIEHHEM.

1) o6uaBpHO 2) MHOTO 3) TsoKeTO0 4) TpyaHO
TIpecTymHHKA MOKHO HAMTH 110 ......c0. o ... MAJIBIEB.

1) ormevaTkam 2) omeyatkam 3) mepeneuatkaMm  4) gomedaTKam
MHe ...........c... IOMOYB MOEMY APYIY, TAK KAK OH J0JIr0 00J1€JI, 0Y€Hb OTCTAT W
HY/K/IAJICS] B TIOMOIIH.

1) moBesno 2) ynanoch 3) npuIoch 4) moCYaCTIMBUIOCH
IlpenonaBateb ................. CTYI€HTA OTKPBITh OKHO.

1) cpocun 2) monpoCHT 3) pacckazan 4) moackazan
CTyleHT ................. B 0M0/IMOTEKE MOC/IE 3AHATHIL.

1) u3yuaer 2) yuurcs 3) 3aHMMaeTcs 4) yuut

Ilecroit nenn Henenn B Pocenn — 310 ...

1) cybbora 2) naTHULIA 3) 4) nmoHeeNnbHUK
Bce 3amo19a1, YCIBIIAB TAKOH «v.vvvveveneee.. OTKA3.

1) pernuBIImii 2) pewaronuit 3) pewaeMslii 4) pemuTeNbHbIN
7KeHa M0ero Ipyra — 0YeHb ....eeveuensesen. XO3SHKA,

1) skoHOMUYHAS 2) skoHOMHUYECKas  3) IKOHOMHAs 4) sKoHOMSIBIIIAS
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3. CTpykTypa npenioxeHus

Hucrpykuus: B kaxnaom Bonpoce Boi0epuTe NPaBUIbHbINH BAPHAHT.

36- CKaKHTE, covvvrrnrnrnnnnn 0exaTh 10 cTagnona «JIunamo»?

1) kak 2) kyna 3)rae 4) tyna
37- AU HE O0BSIICHH, «evuueenrnnnnnnns oH noexaJ B Poccuio.

1) c yem 2) 3aueM 3) kTO 4) rue
38- 51 He cMoTpeJ BYEPa TETCBH30P, «...evveveeees... OB HHTEPECHBIH (QHIBM.

1) Tak kKax 2) 9T00BI 3) ecnu 4) xo1s
39- Haao paHo BCTABATD, «ovvvvrvruennnne MHOT0 C/1eJ1aTh.

1) 4ToOBI 2) Toraa 3) ecnu 4) xoT4
40- KoHe4HO, MBI 0y1eM 04€Hb PAIbL, «.ecvvevreese.... BbI IPUAETE.

1) uT0OBI 2) Torna 3) ecin 4) ecnu Obl

. KOMMyHI/IKaTl/IBHaH rpaMMaTuKa

Hucrpykuus: B kaxaom Bonpoce Boi0epuTe NPABUIBHbINH BADHAHT.

41- Kak Bbl NpUrJjanmaere Bamero Apyra B roctu?
1) MaBaiite moiinem B rocTu! 2) [oitpents ko MHE B TOCTH?
3) [logxoauIb KO MHE B TOCTH? 4) Ipuxoau ko MHe B ToCcTH!
42- Bl B MarasuHe KynuJiy MPOAYKTbI H XOTUTE OIJIATHTH. Bl roBopuTe: .......uvevveee.
1) Ckonbko cTout? 2) Kaxoit cuet?
3) CkoibKo ¢ MeHs? 4) Mpunecure cuer!
43- — Cnacu6o 00Jb1IOE 32 TIOMOIIB!

44-

45-

S.

Oner Tuxui, cepbe3Hblil yenoek. OH Malo
(621371 (55 N 7 EXRO (47) B IlerepOyprckoM yHHUBEpCHTETE
YHUBEPCHUTETE .......ovnnenee. (49) pycckuit a3bIK ¥ tuTepatypy. Korna on He 3aHMMaeTcsl, OH YUTaeT
(51). Yrenune u My3bika — BOT ero oTapix. Ho

1) Oto ObLIO HUYero!

3) Odenp npusTHO!

— I'me To1 panbie xua?

1) A panbrue xun B Mockse

3) A panbiie B MockBe xui
_ ?

— S nnxenep.
1) KTo BBI paboTaete
3) Kax Bamra pabota

Kioy3-Tecr

2) He 3a uto!
4) Kakas momorip!

2) S wun B MockBe panblie
4) Panbie B MockBe Kui s

2) Bel unxeHep
4) Kt0 BBI

Hucrpykuus: B kaxaom Bonpoce BoidepuTe NPaBUIbHbINH BAPHAHT.

.......... (50) xHUTH ® cryIIaeT

CCMbA HC IIOHHUMACT ..................

.......... (53). Ux apy3es 4acTo MPHXOMIAT

(52). Pogutenu Onera OoJble BCEro JIOOSAT HIyMHbIE
.................... (54), u oHM JOMO37HA CHIST

.......... (55) cTonoMm, pa3roBapuBalOT, CMEIOTCS U PACCKA3BIBAIOT AHEKOTHI.

(46), Ho MHOTrO 3aHMMaeTcs. OH erne
(48). On B
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46- 1) roBOpUTH 2) TOBOPIO 3) roBoput 4) roBopuM
47- 1) uzyuaer 2) yuutcs 3) yuutbes 4) u3y4uTh
48- 1) B punonoruyeckuii GpaxynbTeT 2) Ha ¢unonoruueckuil pakynpreT
3) B punonoruyeckoM (akyipreTe 4) Ha punonoruueckoM Qaxynprere
49- 1) yuutcs 2) U3yuuTh 3) u3yuaer 4) yautbcs
50- 1) xopomiue 2) xopommx 3) xoporuuii 4) xopotryro
51- 1) my3bika 2) My3bIK 3) My3bIKy 4) Mmy3bIKe
52- 1) emy 2)ee 3)eit 4) ero
53- 1) xomnaHuu 2) koMnaHuen 3) koMmaHus 4) KOMITaHUIO
54- 1) y HUX 2) K HUM 3) ux 4) um
55- 1)B 2) Ha 3)3a 4) mo

6. UTeHne ¥ MOHUMAaHHe TEKCTa
I/IHCprKHI/Iﬂ: YuraiiTe TEKCTHI M BBINOJHUTE 3aJaHUA M0CJI€ HHUX.

TEKCT 1:

W3naBHa B pycCKOM J0OME TOCTEM BCTPEYay YIOLIEHUEM M KPAaCUBBIMU IECHAMU. EcTb
MHOTO 01110/, KOTOpbIE OTJINYAIOT PYCCKYIO KYXHIO OT JIt000ii Ipyroif, Hanpumep, pycckue
nepBble OJII0/1a WM CYIbl — OKPOLIKA, PACCONBbHUK, Y. O4YeHb BKyCHbIE pyCCKUE Omoa —
’KapeHasi TOBSIMHA, TYCh C KaIlyCTOM, yTKa ¢ 0JI0KaMH.

Pycckue mo0st rpubsl. Kakoii BKycHbIM rpuOHOM cymn! A Kakue BKYCHbIE MUPOTH C
rpubamu! ['pu0sl Ha Pycu cunTanu He TONBKO BKYCHOM, HO | 3JI0POBOM MHIIIEH.

Pycckas kyxHs — 9T0 OauHbl. BauHbl — 3TO BBINEUKa U3 MyKH, MOJIOKA, SIMII, caxapa u
macna. VX emaT ¢ maciom, co cMeTaHoil, ¢ pbhIOOM, C MKpOW, ¢ BapeHbeM. BIMHBI —
00s13aTeNIbHOE YTONEHNE HA MACIICHUITY — CTAPUHHBIA PYCCKUI TIPa3IHUK.

HauronanpHeiit 6e3anK0oronbHbINA PYCCKUI HAMUTOK — KBac. Ha BKyc OH HEMHOTO KUCIIBIH.
IIbfOT €ro XOJI0IHBIM.

H3BecTHOE pycckoe HalMOHAbHOE 01010 — Kaia. J[aBHO oHa ObL1a JTH0OUMBIM OIIF0I0M
B Poccuu. Pycckas nocnosuia ropoput: «1lu na kama — nuia Hammay.

Ecmu Bl mpuenere B Cubupb, Bac BCTPETAT TPAJUIMOHHBIM ONFOJIOM — MEIbMEHSMH.
[IpuroropieHue neabMeHel — yBiekarenbHoe 3ausaTue. [lenbmMenn B CuOMpu TOTOBAT OUYEHb
4acTo, 6€3 HUX He MPOXOJUT HU OJIMH MPa3IHHUK.

[IpusiTHOTO anmerura, 10porue Apys3bs!

56- Koraa B pyccKuil A0M NPUXOAMIIHM TOCTH, «evvvrrrnrenensene
1) ux He yroman
2) TOJBKO yromanu
3) ux BCTpevanu MecHIMU
4) uX BCTpEUaIN HE TOJIBKO YTOMIEHUEM, HO U TIECHIMHU
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57- 1M, paCCONBHUK —ITO «evvvrrrnrnrns oo

1) necept 2) Bropoe Omomo  3) mepBoe Omrofi0  4) He pycckoe 0010
58- Pycckue m100AT rpHObI, IOTOMY YTO ..oevvevvenenen oo

1) u3 rpubOB MOKHO MTPUTOTOBUTH CyNl  2) Otoj1a 13 TPUOOB OUEHD BKYCHBIC

3) rpuOBI OYEHD TOCTYITHBIE 4) rpuObI HETOpOTHE
59- DBuanHBI 00132TEJIHO TOTOBAT «cvvvvenenenennen
1) Ha Bce Mpa3aAHUKU 2) Ha HoBplii rox
3) Ha MaclieHUILy 4) ToNBKO ToMa
60- Ksac-3710...............
1) cnagkuii HaMUTOK 2) 04eHb rOpbKUIl HATIUTOK
3) anKoroJbHBII HAMUTOK 4) 6e3anKOr0NbHBINA HATUTOK
TEKCT 2:

B ITerepOypre ectb AHMYKOB MOCT. Bce 3HAIOT ATOT MOCT, TOTOMY YTO OH HAXOJUTCS B
caMoM LieHTpe ropoja, Ha HeBckom mpocnekte. Ha MOCTY CTOST YeThIpe CKYJBITYPHbBIE
rpymmsl. ITo 3HaMeHuTbie KoHU Kitoara.

[Térp Kapnosuu Kitoar — Hemen no HallMOHAJIBbHOCTH, HO pouJiIics U Bbipoc B Poccun, B
cembe reHepana. CHauana cembs xuna B Cubupu, motom B [letepOypre. 3mech MageHbKUH
MaJIbYMK yUHMJICS B BOGHHOM IIIKOJIE U YCTIEITHO €€ 3akoHumI. Ero xana Onectsias BoeHHas
Kapbepa, OJJHAKO OH PEIIUII CTaTh CKYJIBITOPOM.

Manenskuii Kimoar oueHs Jr00MII KMBOTHBIX, 0cOOeHHO somrazaei. B mome Kioaros Obut
MaJICHbKHH 300TIapK: B KOMHATAX WU TETYX, KOT, co0aKa, mca, 00e3bsHa 1 JTAXKE... JIOIIAJIH.

Manpurk pucoBan ux ¢ JeTcTBa. B ero anp0omax ObUTH TOJNBKO JIOMAAH — JECATKH
nomael Ha Kaxkoi crpanute. OH aenan Jjomaiei u3 Oymaru, TUIICa U MEJIH.

Korga B 1841 rogy na HeBckom mpocmekte OTKppUin MOCT uepe3 DoHTaHKy, Bce
YBUJIENM, YTO €r0 YKpAIlaloT YEeThIPE CKYIbNTYpHbIE rpymibsl — koHu Kioxra. Ilerep-
OypXI1Ibl TOBOPHIIU, YTO 3TO CaMbl€ MPEKPACHBIE KOHU TOPOJA.

Bropsie n Tpetsu sx3eMIuLApsl tomanei Knoara naxoasares B bepnune u Heanone, Tam
UX TOXE JII00ST.

HenaBno nerepOyprckue koHM OblLTM Ha pecTaBpauyu. Ceiluac OHM BEPHYJIHCh HA CBOE
MECTO U CTOSIT TaM, IJie ObUTH BCET/IA.

Jlns Hac konn Kimoara — cBoeoOpasHas Bu3nuTHas kaprouka [lerepOypra.

61- I'me panbie xuaa cembsi Kioara?

1) B Cubupu 2) B I'epmanun

3) B [lerepOypre 4) na HeBckoMm mpocnekre
62- B kakoii cembe u rae Boipoc Kioar?

1) B cembe ckyipnTopa Ha HeBckoM mpocrnexte

2) B ceMbe cKyJbnTopa B ['epManiu

3) B cembe renepaia B [lerepOypre

4) B cembe TeHepana B Mockse
63- Kakoro xuBoTHOr0 00/1b11€ BCero 1100n1 pucoats Kioar?

1) nucy 2) metyxa 3) cobaky 4) nomanein
64- e HaxoasITCS BTOPbIE M TPeThU IK3eMILISIPbI stomajeii Knoxra?
1) B I'epmanuu u Poccun. 2) B bepnune u Heamorne.
3) B Cubupu u [lerepOypre. 4) B Poccuy 1 Ha HEBCKOM IPOCTIEKTE.

65- YKaxuTe CHHOHHM CJI0BA «PECTABPALMS B KOHIE TEKCTA.
1) BoccTaHOBNEHHE 2) XPAHUIIUIIE 3) my3eit 4) cxnan
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TEKCT 3:
['APPU KACITAPOB

— T'appu Kumosuy, Bel HenaBHO BepHymch 3 AMepuky, rae Bammm npoTUBHUKOM ObLI
KOMIBIOTEDP. DTy WIPY KYPHATUCTHI Ha3BaIUW «OMTBOWM THMTAaHTOB». Pacckaxure o Hei,
HOKATyHCTA.

— D10 OB HE TIPOCTO KOMIBIOTEP. ITO OBUT KOMIBIOTEPHBIN MOHCTp MO MMeHU DpuTIl,
KOTOPOTO CIELHMAIBHO CO3MAIM JUI UTPBI CO MHOW. MEHS 4acTo CIpaiMBaid, XOTEN JIM A
IPOBECTH HKCHEPUMEHT U JJOKA3aTh, YTO YEJIOBEK CHIbHEE MALIMHBL. J[a, KOHEUHO, s XOTEN
3TOr0, HO3TOMY 5 COITIACHIICS HA MarTd.

— Kak npoxoauna urpa?

— Urpath B Takux ycnoBusx Obu10 oyeHb TpyaHO. [lepBas maprtus 1mina yethipe yaca, i Bcé
3TO BpeMs 5 HanmpskE€HHO Tymant. Bo BTopoil maptuu mo3uuus y MeHs ObLia JydIle, 4eM y
KOMIIBIOTEpA, HO B OTHOM MECTE 51 OIIHOCH.

— Tax Bbl He10BOJIbHBI CBOEH UTPOI ¢ «DpUTIIEM»?

— Sl npourpai, HO B LIEIOM s JoBOJIeH. OUeHb BaXHO MOHATh aIrOPUTM paboThl «Dputian
- 9TO MHTEPECHOE IyTEIIECTBUE B MUp JIOTHKU. KpoMme TOro, 3T0 eJMHCTBEHHAs IUIOMA/KA,
T/Ie YeJI0BEUYECKUI MHTEIIIEKT MOKET OOPOTHCS C MOIIBIO MALIIUHBI.

— Kaxk Bl 1ymaere, KT0 cerozias CHIbHEe - IAaXMATUCT WM KOMITbIOTEp?

— S mymaro, 4TO MpEUMYIIECTBO BCE paBHO Ha CTOPOHE 4YenoBeka. Korpa maxmaTtuct
XOPOIIO TOHUMAET «MEHTATbHOCThY» MAIUHBI, OH MOOEANT. S BHIMTpan B TpeThel MapTuH,
TIIOTOMY YTO $ TTOHSJI, KaK MAIMHA IPMHUMAET PELLCHNUS.

— T'appy, y Bac ectb TuTYy1 yemMnuoHa Mupa 110 maxMaram. Bam HUYero HUKOMy He HaJlo
JoKa3biBaTh. Bbl yke mepBblil. 3auem Toraa Bel cornmacuiuch urpath B IIaXMaThl C
KOMIIBIOTEPOM?

— MHe uHTEpecHbl HOBbIE TEXHOJOTHM - 3T0 Hame Oyaymiee. Jletn yepes ABaaUaTh JieT
OyZyT yAMBISTBCS, KOTJAa YBUIAT ACPEBSIHHBbIC mIaxMarHble ¢urypku. U emé mue ObLIO
MHTEPECHO, KaK PearupyeT YeaoBeyecKas ICUXMKa HAa BUPTYaJIbHbIN MUP.

— Kak Br1 nymaere, kakoe Oyaymiee y maxmar?

— B Omwkaitimem Oyayimiem maxmatbl NPUAYT B MIKOJBL Sl Jymaro, 4To 3TO CHayaja
cinyuutcs B Amepuke u 3anaaHoi EBpone - TaM, rie ceiiyac MHOTO AyMaroT O EPCIEKTUBAX
obpasosanust. Tobko Hero-Mopk Tpatut 3-4 MITIHOHA 1O/UTAPOB B FOJ] HA MAXMATHI, IOTOMY
YTO TaM BCE MOHUMAIOT, KaK [IIaXMaThl BAMSIOT HA KAYeCTBO 00Pa30BaHMUsI.

—A KaKk KOHKPETHO BIHAIOT [IaXMaThl Ha KaueCcTBO 00pa30BaHus?

— B knaccax, rjae 3aHUMaroTCs IaxMaTaMy, JIyqiie pe3yJIbTaTbl HE TOJIBKO B MaTEMATHKE,
HO U B Ipyrux npeamerax. Camoe TiaBHOE, YTO IIKOJIBHUK CAMOCTOSTEBHO AyMaeT. Pe6énok
OTBEYAET 3a CBOM XOJ HA JJOCKE, Y HETO Pa3BUBACTCSA YYBCTBO OTBETCTBEHHOCTHU. JIMYHOCTH
pactér BmMecTe ¢ maxmatamMu. Kpome Toro, urpa Moxer 00beAMHUTh BCEX.

— Kpowme maxmar, Bel 3aHMMaeTech ncropueit, MaTeMaTUKOM, OJIMTUKOM U MHOTO 3HAETE.
Bam nomoraror B 3TOM IaxMarbl?

— VY MEHs OMHAKOBBIM AJTOPUTM NPUHATHS PEILECHNS U B IIAXMaTaX, U B )KU3HU. TOJIBKO
B lIaxMarax HeT MecTa uaeonoruu. Korja s HaXoxych 3a IOCKOM, s HOKEH OOBEKTHBHO
OTHOCHTBCS K CONEPHUKY. Eciu 1 OTHOLIYCh K CONEpHUKY HEOOBEKTHBHO, 5 pourpsiato. 1
3a IIAXMATHOM JOCKOM, ¥ B U3HHU S BCETJa CTAPalOCh MOHSATH JIOTUKY Pa3BUTUS COOBITUIA. A
KOTJIa Y MEHs HET pelleHus KaKoro-To BOIMPOCA, sl CTApaloCh ObITh TEPIUMbIM U IPUHUMAI0
CUTYALIMIO KaK OHa €CTb.

— Cnacu6o 3a untepbto, ['appu Kumouu. XXenato Bam mobenuth B cremyolmei urpe ¢
KOMITBIOTEPOM!
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66-

67-

68-

69-

70-

Kak otHocurcs I'. KacnapoB k cBoeii urpe ¢ kKoMnbotTepom?

1) On noBoMIEH CBOEH UTPOI. 2) OH HEZI0BOJIEH 3TOM UTPOH.

3) OH oTyacTH JOBOJIEH UTPOM. 4) OH He X0YeT TOBOPUTH 00 3TOU UTpe.
3ayem I'. KacnapoB coryiacuiicsi MTpaTh ¢ KOMIbLIOTEPOM?

1) UtoOpI moka3ath CBOM TaNaHT.

2) Uro0bl B KJTaccax 3aHUMAUCH [IAXMaTaMU.

3) UroOsb! 10Ka3ath ceOsi U CTaTh YEMITMOHOM MHPA.

4) Uto0Obl y3HATh, KaK pearupyer yenoBeueckas CUXUKa Ha BUPTYaIbHbIA MUD.
IIpuHATH peieHne B IIAXMATAX H B PEATbHOMN KU3HU OTIIHYAIOTCH «ovvevenrnnenennns
1) pa3BuTHEM JUYHOCTH 2) OTCYTCTBUEM HACOJIOTUH

3) BnusHUEM Ha 00pa3oBaHue 4) 4yBCTBOM OTBETCTBEHHOCTH

Kak yesoBek cMo:KeT BBIMIPATh Y KOMIIbIOTEpa?

1) Hano ObITh TEpHUMBIM.

2) Hajo npuHATH CUTYALMIO KaK OHA €CTb.

3) Hano 3aHuMarhcs maxmMaTaMy B IIKOJIaXx.

4) Hajio OHSATH anropuT™ paboThl U MPUHATHUS PEIICHUS KOMITBIOTEPA.

Kaxkoe 0ynymee Buaut I'. Kacnapos gas maxmar?

1) Byayiiee npuHaaNeXUT YEIOBEKY.

2) [llaxMaThl pa3BMBAIOTCS B IIKOJAX.

3) Byay1iee npuHaIEKUT KOMIIBIOTEDY.

4) [ocne 3TOM UTPhl MEHBIIE JIFOEH OyIyT AyMaTh O MIaxMaTax.
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Parte A: Grammatica

Indicate la risposta corretta:

1-  Mi chiedeva se ......ccceuvuenneee uno sconto di Minuito ........cceevereeeee 10%.
1) le avrei dato - del 2) le avevo dato - del
3) le avrei dato - dal 4) le avevo dato - dal
2- e avevamo fame siamo andati .........cceueeee. lui per pranzo.
1) Siccome - a 2) Siccome - da 3) Benché - da 4) Perché - con
K chiamarti prima della partita ma come sempre ho dimenticato.
1) Ho voluto 2) Avevo voluto 3) Avrei voluto 4) Volevo
- e ,come si dice in giro, dar retta ai propri genitori puo qualche volta aiutarci,
purtroppo a volte i loro consigli possono essere perfino pericolosi.
1) Perché 2) Purché 3) Sebbene 4) Finanche
5-  Sara pure un calciatore preparato, ma 0ggi ........ceeeereuee del tutto svogliato.
1) appare 2) ¢ apparso 3) fu apparso 4) sara apparso
6-  Sevolete una pizza da .........ceceveuee. questo ¢ il posto perfetto.
1) asporto 2) asporti 3) asportare via 4) potare con noi
T-  Che .ovecerrcnnes male, era evidente; percio gli dissi che .........ccceevunene io.
1) era - guidavo 2) fosse - guidavo
3) era - avrei guidato 4) stesse - avrei guidato
8- Immagino che a quest’ora i nostri colleghi gia .................... a Verona.
1) arrivarono 2) arriverebbero 3) saranno arrivati ~ 4) fossero arrivati
9-  Come consigliato ........ceeeerenee ottimo fare sport prima di andare in vacanza al mare.
1) sara 2) fosse 3) sarebbe stato 4) fosse stato
10- In sostanza, la morale della storia é che, senza morale, non ........ccceeeenee la nostra storia.
1) ci costruiamo 2) vi costruiamo
3) avremmo costruiti 4) ci si costruiamo
11- Rimediare .................... malattie ¢ talora davvero difficile.
1) per certe 2) di certe 3) da certe 4) a certe
| tengo molto perché insieme .................... divertiamo.
1) Ci-si 2)lo-ci 3)Ci-ci 4) Gli - ci
13- Non scrivo per essere divertente, ma solo perché ................... sento costretto.
1) me lo 2) mi ci 3) me ne 4) me la
14- Se sapevi come avrebbe parlato quel giorno, non .................... con te?
1) lo portasti 2) lo portassi 3) lo porti 4) lo portavi
15- Una volta il professore ..........eeueuee. , nella societa era veramente qualcuno.
1) fosse rispettato  2) era rispettato 3) sara rispettato 4) sia rispettato

Parte B: Lessico

Completate le frasi con le parole adatte:

16- Ho migliorato il mio italiano .................... per non essere ancora come un principiante.
1) alacre 2) moderato 3) mediocre 4) innovativo

17- La zoologia ¢ ramo delle scienze biologiche che studia la vita del mondo animale, in tutte
le Sue ..oceenieinnnne
1) manifestazioni ~ 2) deduzioni 3) delazioni 4) induzioni

18- Il locatario .......cecevvevenene a trasferire I’oggetto di locazione ai terzi.

1) non ¢ tenuto 2) non ¢ rinunciato  3) non ¢ biasimato  4) non ¢ autorizzato
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21-

22-

23-

24-

25-

26-

27-

28-

29-

30-

31-

32-

33-

34-

35-

................... abbia sempre piovuto, non ho passato una brutta vacanza.

1) Anche 2) Dacché 3) Anche se 4) Quantunque

Il carnevale ¢ una festa in cui ci i veste .....ooeeeeeresnens particolari e per arrivare poi al tempo
1 |

1) abiti - farsa 2) costumi - disdetto

3) costumi - digiuno 4) parrucca - lusinghe

Come mi ha racconto lui non apri .......ceceveuenes non I’ebbe riconosciuto.

1) finché 2) affinché 3) anche se 4) allo scopo che
Questa studentessa per il presente semestre .........eceuenee ancora gli studi in Italia e la
prossima primavera ritorna al suo paese.

1) conclude 2) continua 3) finisce 4) cessa

Questo atto viene .........ceeeueueee tra le parti e .....cceveeenenee dei figli minorenni ¢é a carico della
madre.

1) regolato - mantenere 2) scaduto - I’affidamento

3) stipulato - I’affidamento 4) avvisato - I’andamento

Una persona intelligente deve leggere tra le righe perché per andare oltre ai limiti bisogna
1) parlare chiaramente senza giri di parole

2) intuire cid che non ¢ detto o scritto espressamente

3) agire apertamente senza nascondere le proprie intenzioni

4) poter pretendere da qualcuno risultati superiori alle sue possibilita

Come consigliato, si deve leggere per la mente.

1) quotidiani - almanaccare 2) giornali - arzigogolare

3) quotidiani - esercitare 4) scaffali - manipolare

................... una assistente per esercitare I’italiano in cambio di una camera in una
famiglia tedesca.

1) vendesi 2) in cerca 3) trovasi 4) cercasi

La consorte ......cceceueueenes ad ogni suo diritto in cambio dell’affidamento dei figli.

1) ha rinunciato 2) ha straniato 3) ha accettato 4) ha lasciato

La polizia non ¢ riuscita a .......cceeeueuene nessun indizio dopo la vicenda di cui ti ho parlato.
1) inviare 2) reperire 3) avvertire 4) formulare

Nel calcolo delle probabilita il fattore .........ccecereees ¢ sinonimo di casuale o stocastico.

1) sublime 2) perentorio 3) divisore 4) aleatorio

Quale risposta ¢ sinonimo della parte sottolineata?
Cio premesso, ci troviamo di fronte a proposte insufficienti, ciniche ed ipocrite.

1) detto cio 2) al contrario

3) malgrado tale fatto 4) col permesso

A causa di problemi di salute ha richiesto un mese di .........coeeveueee al dipartimento.
1) distacco 2) congedo 3) pausa 4) ripresa
.................... quello buono a. .................... che non poteva neppure risolvere i suoi problemi?
1) hai presente - tutto 2) hai ricordato - tutto

3) hai presente - nulla 4) ti memorizzi - nulla

Maria vide Luca e gli si sedette .........cccervueenee

1) da fianco 2) fianco 3) affianco 4) a fianco
................... dei prigionieri risuonavano nel prigione.

1) Le grida 2) Le gride 3) [ gridi 4) I grida

Ci sono diversi .......cocvueueunnee in cui si coltivano ..........ccucuee. come riso.

1) fabbriche - piatti 2) prati - alimenti

3) terreni - pietanze 4) fattorie - ricette



Parte C: La struttura della frase

Mettete le parole in ordine giusto:

36- appena; vorrei; chiamarti; saro tornato; non; a casa.
1) Vorrei chiamarti non appena saro tornato a casa.
2) Vorrei chiamarti appena non sar0 tornato a casa.
3) Non saro chiamarti appena vorrei tornato a casa.
4) Appena vorrei chiamarti non saro tornato a casa.
37- mago; essere; la sera; sembrava; libri di chimica; quando; leggeva; un.
1) Essere un mago sembrava quando leggeva libri di chimica la sera.
2) La sera libri di chimica leggeva quando sembrava essere un mago.
3) Sembrava essere un mago quando la sera leggeva libri di chimica.
4) Un mago leggeva libri di chimica quando sembrava essere la sera.
38- che; cerca; situazioni; rischiose; 1a guida; difensiva; sulla; strada; ¢é; di; anticipare; quella.
1) Cerca di anticipare situazioni rischiose quella che ¢ sulla strada la guida difensiva.
2) La guida difensiva sulla strada quella ¢ che cerca di anticipare situazioni rischiose.
3) Quella ¢ che cerca di anticipare situazioni rischiose la guida difensiva sulla strada.
4) La guida difensiva ¢ quella che cerca di anticipare situazioni rischiose sulla strada.
39- la; disabilita; tema; formato da; compiuto; rami diversi; ¢; senso; psicologico; di.
1) La tema di disabilita € senso psicologico compiuto formato da rami diversi.
2) La disabilita ¢ tema psicologico di senso compiuto formato da rami diversi.
3) La disabilita ¢ senso formato da rami diversi di tema psicologico compiuto.
4) Formato da rami diversi ¢ senso di compiuto tema psicologico la disabilita.
40- fuggire; cercare; il fato; bisogna; accettare; non; di; da; esso.
1) 11 fato bisogna accettare da esso non cercare di fuggire.
2) Non cercare di fuggire da esso 1l fato bisogna accettare.
3) Non cercare di fuggire il fato bisogna accettare da esso.
4) Bisogna accettare 1l fato non cercare di fuggire da esso.

Parte D: La funzione del linguaggio

Indicate la funzione del linguaggio piu adatta

41- Non esiste vento favorevole per il marinaio che non sa dove andare.

1) ottativa 2) concessione 3) derivazione 4) apoftegmatica
42- Ma perché credono che ci si possa fumare in ospedale?!

1) interrogazione retorica 2) affermativa

3) concessiva 4) dubitativa
43- Prima che il gallo canti tu mi rinnegherai tre volte!

1) enunciazione 2) consolazione 3) previsione 4) induzione
44-  Avessi avuto i soldi, avrei comprato quel rustico.

1) condizione 2) ipotetica 3) affermativa 4) divinazione

45- Quando ha preso la macchina il padrone gli disse: ""Non la passerai liscia".
1) intimidazione 2) maledizione 3) benedizione 4) negazione



Parte E: Testo bucato

Completate il testo seguente con le parole proposte:

La fondazione Corrado mette a concorso un Premio di studi, del .................... (46) di 1.500 $.
Il concorso € ....coovevenenene. (47) ai neolaureati presso Universita italiane, 1 quali abbiano
.................... (48) la laurea con una ....................(49) della tesi sull’opera di Corrado o di altri
scrittori calabresi del ‘900. Le domande di .................... (50), unitamente all’elaborato in tre
copie dovranno arrivare alla segreteria della Fondazione.

46- 1) patrimonio 2) prezzo 3) valore 4) costo

47- 1) attivato 2) riservato 3) finalizzato 4) assemblato
48- 1) conseguito 2) conquistato 3) realizzato 4) raggiunto

49- 1) esposizione 2) descrizione 3) discussione 4) trattazione

50- 1) destinazione 2) intervento 3) approvazione 4) partecipazione

La commissione sara presieduta dal Presidente. Saranno privilegiati i lavori che
evidenzieranno

.............. (51) diricerca. Il 15 marzo 2018 sara data ...................(52) scritta al concorrente che
sara dichiarato vincitore. Il verdetto sara pubblicato sui media. La Commissione ha la facolta
di non ..o (53) il premio che potra subire ................... (54) nelle date, sia della
.................. (55) nella diffusione dei risultati, sia della richiesta di certificazione.

2) autenticita 3) ridondanza 4) risoluzione
52- 1) asserzione 2) affermazione 3) comunicazione  4) trasmissione
53- 1) assegnare 2) aggiudicare 3) recapitare 4) distribuire
54- 1) riforme 2) modifiche 3) trasformazioni 4) ricapitolazioni
55- 1) limitazione 2) conclusione 3) finalita 4) scadenza

Parte F: Lettura e comprensione del testo
Leggete il testo e rispondete alle domande seguenti:
Passo 1:

L’archetipo della Persona puo essere definito come una figura difensiva interiore che ciascuno
di not possiede, una sorta di scudo psichico che ci aiuta a proteggere la nostra essenza piu
profonda dal mondo esterno. Nella pratica ci0 si traduce nell’immagine pubblica che
decidiamo di offrire alla societa e nella relazione con I’altro: dinamica che se da un lato riveste
una funzione di difesa dagli stimoli esterni, dall’altro si traduce in un ostacolo nel processo
di individuazione.

In questo senso, infatti, I’archetipo della Persona ¢ associato a processi di disintegrazione
identitaria che portano I’individuo a svuotarsi di alcuni suoi aspetti piu profondi
privilegiandone altri che alimentano il falso sé. Cid puo portarlo a mostrarsi all’altro come
qualcosa che non ¢ realmente, relazionandosi nei contesti sociali e lavorativi come fosse



racchiuso all’interno di un guscio, nascondendo il proprio ego. Non a caso il termine
“Persona” ha origini latine tese ad indicare la maschera teatrale che si indossa prima di entrare
in scena, racchiudendo al suo interno non solo cio che I’individuo tende a mostrare per
rispondere a specifiche esigenze del contesto, ma anche la propria aderenza inconsapevole al
rispetto di regole e convenzioni sociali.

56- Come viene definita “la persona”?
1) una maschera teatrale che ci si indossa ai teatri
2) un comportamento che si impara nella societa
3) un meccanismo difensivo per essere piu bravi
4) un lato oscuro dell’essere umano
57- 1l pronome “ne”, sottolineato nel testo a che cosa si riferisce?

1) aspetti 2) processi
3) individui 4) Parchetipo della Persona
58- Perché la persona ¢ importante?
1) avvicina I’essenza al cuore 2) ci viene insegnata alle scuole

3) ci aiuta a nascondere gli aspetti oscuri  4) ci aiuta a proteggere la nostra essenza
59- In base a quale fenomeno si puo definire I’origine antica della parola persona?

1) tragedia greca 2) teatro romano
3) archetipi prestorici 4) psicologia novecentesca
60- Come funziona “la persona”?
1) ci si indossa come un vestito 2) nasconde il falso e dimostra il vero
3) svuota i lati oscuri di un individuo 4) funziona quando ci si sente in guaio
Passo 2:

Attualmente il concetto di salute € inteso non come assenza di malattia, ma in una accezione
decisamente piut ampia e completa. A questo riguardo gli organismi internazionali
(Organizzazione Mondiale della Salute) hanno focalizzato la definizione di salute in una
dimensione olistica, esplicitandola come una condizione di benessere che riguarda le tre
dimensioni che caratterizzano la vita di ogni individuo, ovvero la dimensione fisica,
psicologica e relazionale — sociale.

Attualmente, grazie alle rivoluzionarie concettualizzazioni sancite dall’ICF (2002), la
disabilita ¢ considerata uno stato di salute in un ambiente sfavorevole. In questo modo si
pongono in evidenza le correlazioni che legano la percezione del proprio stato di salute e di
benessere alle variabili ecologiche, che caratterizzato il contesto di vita dell’individuo,
rimarcando ancora una volta come la sensazione di disabilita sia strettamente proporzionale
alla qualita della vita vissuta. In altre parole, laddove il disabile ha I’'impressione che la propria
vita sia ricca di un vigore fisico, frutto anche di trattamenti abilitativi, riabilitativi e terapeutici
idonei ed efficaci, di una serenita emotiva, di un contesto sociale, che favorisce 1’evoluzione
personale, che sostiene e incrementa 1 rapporti con gli altri individui, che non lede le
prerogative personali e soprattutto che permette di esercitare il libero arbitrio, li egli vivra la
sua disabilita come una diversa abilita.

61- Qual ¢ il contesto principale del testo?
1) centri del benessere
2) benessere dell’essere umano
3) comprensione dello stato fisico
4) il significato di vita di un individuo
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62- Quali sono i principali aspetti di una vita sana?
1) condurre studi psicologici 2) mentale, fisica e relazionale
3) accettazione dei propri limiti 4) costruire dei legami con la gente
63- Quale puo essere un punto di vista piu adeguato per un disabile?
1) vedere la propria disabilitd come un’altra abilita
2) definire la vita in base al vigore fisico
3) studiare i meccanismi mentali
4) adeguarsi alla societa
64- Che significa il termine olistico utilizzato nel testo?
1) arbitrario 2) contestuale
3) onnicomprensivo 4) comportamentale
65- Cosa significa un trattamento riabilitativo?
1) disciplina ospedaliera
2) percorso di ricapitolazione
3) trattamento dei centri del benessere
4) percorso terapeutico che consente di recuperare le capacita

Passo 3:

Per ontologia si intende, in un'accezione ristretta, lo studio dell'essere come insieme degli enti,
limitatamente a cid che sembra esistere in concreto o risultare anche solo pensabile, dunque
secondo quanto sembrerebbe attestato dai sensi o dalla psiche. In un'accezione piu estesa, si
intende un'indagine sull'essere al di 1a degli enti attraverso 1 quali esso ci si manifesta nelle
apparenze e nei fenomeni: la ricerca dell'Essere o del loro fondamento ultimo. In questa
ulteriore accezione, 1'ontologia ha finito spesso per riferirsi, nel contesto della metafisica, allo
studio dei principi primi come le idee platoniche, le essenze, le cose in sé o gli oggetti della
logica o della matematica, mentre, nel contesto della teologia, allo studio dello spirito
o dell'assoluto.

Se l'ontologia ¢ lo studio del fondamento di quel che esiste, del come esiste, se € solo
pensabile, se ¢ costante, universale, accertabile, allora essa implica anche la ricerca del senso
profondo di ogni essere reale. Cio ¢ anche attinente all'antropologia filosofica e quindi alla
domanda circa il senso dell'esistenza dell'uvomo che pensa e che si pensa. Ogni domanda
intorno al "soggetto", all"'oggetto" e la loro "relazione", dunque tra "i0" e "mondo", ¢ anche
una domanda ontologica. Nell'ambito della storia della filosofia va anche tenuto conto di una
differenza terminologica tra essere ed esistere che spesso ricorre nella metafisica tradizionale
(anche se tralasciata da alcuni autori): mentre l'essere € in sé e per sé, e non ha bisogno di
nient'altro, 1'esistenza non ha Il'essere in proprio ma lo riceve da qualcos'altro.

66- La definizione dell’esistere al contrario dell’essere ¢ basata su ..........cccuueeee.
1) idealita 2) divinita 3) dipendenza 4) universalita
67- L’ontologia di solito si riferisce a quale ambito di scienze umane?
1) matematica 2) teologia 3) logica 4) fisica
68- 1’ontologia nell’eta moderna discusse fra I’altro di quale elemento?
1) psicologia 2) scienze esatte
3) analisi matematica 4) soggetto pensante
69- la relazione fra il soggetto e ’oggetto ¢ un discorso tipicamente .............ccccu.u..
1) ontologico 2) platonico 3) umanistico 4) interdisciplinare
70- la manifestazione dell’essere viene percepita fra I’atro tramite quale fenomeno?
1) la dimensione surreale 2) i calcoli matematici

3) I'indagine teosofica 4) 1 sensi e la mente
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